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I(Nkz"gﬁUlCTloNs TO THE CANDIDATE
. € INStructiong carefully before Answering)
1. Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along with Question Paper Booklet.

Please read and follow the instructions on the OMR Answer Sheet for marking the responses and the
required data.

2. The candidate should ensure that the B - ]
Code supplied are same. 00klet Code printed on OMR Sheet and Question Paper Booklet

3. Immediately on opening the Questign Pa i

. per Booklet by tearing off the paper seal, please check for

() The same "°°‘de:]°?de (A/B/C/D) on each page, (ii) Serial Number of the questions (1-200), (iii) The

number of pagfes and (iv) Correct Printing, Iy case of any defect, please report to the invigilator and ask for
replacement of booklet with same code within five minutes from the commencement of the test.

4. Electr_onjc gadgets like O_Cell Phone, Pager, Calculator, Watches and Mathematical/Log Tables are not
permitted into the examination hall.

5. Darkentheappropriate circles of (1), (2), (3) or (4) in the OMR sheet corresponding to correct or the most

appropriate answer to the concerned question number in the sheet. Darkening of more than one circle
against any question automatically gets invalidated. -

g- Rough work should be done only in the space provided in Ithe Question Paper Booklet.

Return the convener copy of the OMR Answer Sheet to the Invigilator before leaving the examination hall.
Failure to return the OMR is liable for criminal action.

8. The duplicate OMR Sheet and Question Paper Booklet shall be taken away by the candidate and should be
preserved till the declaration of results.

9. The Question Paper Booklet is printed in two languages viz. English/ Telugu or English/ Urdu. In case of
any doubt or ambiguity in any question, then the English version is considered to be the correct version.
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2. o 85% avd)S OMR Hen dois Sn(Bod 8 &0 (HHHE E°F .58 eanse® B6° 56 SrossSD:.
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Time: 3 Hours Marks : 200

Instructions:

(i) Fach question carries one mark,

(08 L;:a;lén a8 Sl Sol.

(i) ~Choose the correct or mast APPropriate apgyer from the given options to the following questions and
darken, with blue/black ball point pen the o responding digit (1), (2), (3) or (4) in the circle pertaining to
the question number concerned in the QMR a nswer Sheet, separately supplied to you.

BIHD 2Dy (B8 (HHDH aDWES rhet RO SEFCPSEND JKYED 0D $003 w08 (1), (2), (3) 88
(4) SBore 55 OMR SIrGe B (53 50205003 Sotg Ko HEEH ap/ept ard awols Dy
AHREA0D VoDIBD.

3 3
y If 2x — 5y =7z — 3y then, for xyz # 0, ___Bx = 348.% - 8y~ _
xyz

3 3 3
2x —5y=7z-3y, xyz# 0, ©o0IHH 8x"-3437" - 8y” _

xyz
(1 80 @ 82. «)( 84 @) 86

2. A person travels from A to B at 75 kmph in a Car and in the return journey the speed is reduced by 15 kmph.
If the total time taken is four-and-half hours then the distance (in kms) between A and Bis:

&8 358 A 08 BE 56 (Sasrm0 Hob 7582, Hro8® BB, B (Saieesos® IRy Kowsd 158.5
BROTD. G Ando (BATETRS TreorHRS Hoben SEB A, Bo g rSo(S. .08 :
(1) 100 2 120 @ 140 @ 150

3. Three persons A, B, C start a company and contribute a total of ¥ 10,70,000 towards its running. A
contributes Z 50,000 more than B, and B contributes ¥ 60,000 more than C. If the company earns a profit of

2 2,72,850, then the share of A is : (in rupees)

S0rpty Sggen A, B, Cen 310,70,000 eeas® ¥ Ko (FEodTL. Biyged 577 ADgped 750,000
28, BBy C Depold Soy Bogel T60000 2. © SIS T2,72,850 oo I woHs® A
Tt : (Braraned®t)

(1)  1,04,550 ,{1{ 96,800 (3 91,800 (4 76,500

4. The volume of a sphere equals its surface area only when its radius (in units) equals :
&8 o $os0bsrno ool 080 éa‘%ﬁg ém:);’wa;éa aSe0 aﬁéé"go (cSrLS®) B0 Roggd
KBRS Soonsped SeSD :

@ 1 @2 2 @B) 4 & 3
5. If the angles of a triangle are in theratio2:3:7 th(;r; the Large;t angleis: -

28 (Bebesostd Semen 2:3:7 9586 aol, &S ©8Y S0 :

1 90 @ 105° @) 120° @ 150°
6.  The number of positive divisors of 19951is

1995 Gog) &S eraste Koy

@ 8 @ 16 o 32 o
—_— e =
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7. While walking a distance of 24 km, a man noticed that after walking for 1 hour and

5 R .
40 minutes, the distance walked by him was = of the FéMaining distance. His speed of walking is :

(1)  4km/hr (2) Skm/hr )3‘ 6 km/hr 4) 8km/hr
o 58 24 8. 2. tovoeR) SPOREED Bcirdoscrs pADENBOR 2.8 Koty 40 APe SBeE KEHVODFEH0H

0EH HAFBODS Ko DA ErEoS’ ; < S0 ©D. I 5K SKo -

(1) 48.5./Ko. @ 58./Ko. 3) 68.5./Ko. @) 88.%. /Ko.

8. A certain sum is given on compound interest atsome rate. The sum amounts to % 7,350 and ¥ 8,575 at the
end of 2 years and 3 years respectively. The sum givenon compound interest is :

508 Rrduyh Eod Bewd SESES adwhod. © iy 255 BoSSTroERdS HHBAD 3 HoBE)ToE RS
S T 7,350, 8,575 wonod. SESE8 agyd oy :

(1) 5,000 % 5,400 (3) 6,000 @4) T 6,400

9.  Theleast multiple of 7, which leaves a remainder of 5, when divided by 6,9 and 15is:
§  6,0%00m 1503 grhoSm 5 Eako Sk o 7 @S hderos® ©8 23 Souy :

(1) 450 9)/ 455 (3) 560 @) 378

10. Taps A and B fill an empty tank individually in 8 hours and 6 hours respectively, wh'sﬁe
tap C empties the full tank in 12 hours. Due toa problem tap C could not be closed. If the taps A and Bare
opened alternately for one hour each starting with A, the time taken (in hours) to fill the tank is :
¥ g &80 A, B o3 Hom DEDEM SE 8 fotew, 6 Koten HEuchos® Jodre, Ced Ho Jotd
60 12 ot 8 Siod. Sod Gy Sg Do CR Sd Ashtro HEB B, A, Bo SEdre 28w
SO 2,88 2.8 Kot SFen DYEr, & 568 A & (260 & & Vokrs 58 Bavo (Kowrdd) :

@ 6 8 3) 16 @ 24
-
11.  January 1, 2018 was Monday. Then January 1, 2019 falls on the day :
Tuesday (2) Wednesday (3)  Thursday (4) Saturday
22358 1,2018 % RSozebo. @YD BKEB 1,2019 Baris HT) B0
(1) HoKgardo (2 oo @) fdTso @) o

12.  Atentis in the shape of a cone surmounted on the top of a cylinder. Height of the cone is half that of the

cyl_inder and the b-‘fse radius O_f the cylinderis3 m, If the canvas required for the tentis 198 m2, then the total
height of the tent (in meters) is :

35’535"50 o) e°Bo 28 JZT0 P 0% BHonseE. oD I, Ino JHE® B0 Bk
Ao gbe g0 3 8. HEroR8 SOIR ] g 198 .2 o8, HEdo Sndo J& (oesst) | (;

m » @ 6 pj/ 8 @ 12

4-D

-
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13.  ThreepersonsF, Q, R starta company wig, their contributions being in the ratio —: —: = . After 3 months,

P withdraws half of his contribution, and

ther 9 months ; fit of ¥3,16,000 is divided amon
them. The share of P is : (in rupees) Biteranois IR CETRRER POEEREeRe

83 '&)enmd.é‘ S BIDHOERD. Zokes @agfs oo Soard SN ergfiin T 3,16,000 & S0DDHOLPD.
06" P8 SRS e (Erdravedt)

(1)  1,20,000 @  1,00,000 ;a)/ 96,000 (4) 90,000

14.  The remainder when (67% + 67) is divided by 68 is:

6757 + 67 % 68 8° growe $3) 3o

P( 1 @ 65 (3) 66 @) 67

15. A train starts with some number of passengers. At the first station, one third of the passengers get down
from the train and 280 passengers get into the train. At the second stal:lon, half of the passengers get down
and 12 passengers getin. Now, the number of passengers in the train is 248. The number of passengers in
the train at the beginning is :

FodHod [HardHes® o8 Do pdberBosh. Isd VDS Krdow 2l So (HardHen BAEM
280 008 (HAirden Dend’s (H58006. To&® PIWE® (HarAHE SKo Dob BADE 12 Hod 6508
(538028, ax)to Bendtd (HesrdHe Soxg 248 LowS (FEogos” Bens® &) (Bairdhe Sogg |

1 192 ’ 2 288 @ 324 (4 376

16. If ABCD is a cyclic quadrilateral in which |ABC = 47° and |[BCD = 97° then |ADC — [BAD =

ifab Setsmo ABCDE® |ABC = 47°, [BCD =97° ®and |ADC - |BAD =

(1) 40° , (;;/ 50° @ 60° @ 70°
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J, then the correct

’

lements i 4
_ of the€ In the set { =,
7. Ifa 1182 83,4, and ag are the decreasing order 5

w\[m
2‘-‘\.’\3
= |
W

. List-Tlis -
. n ]_rl Lls 1s i
Matching of the values in List - I to those g1ve

g
308 {4 .12 5] &80 Sreste o305 E20 2y a, 3y 4y, a5 ©OVE wdav-| &t denSed

53°8 4" 6
PO - 11 5008 asHE08 :
List-l/a!'ﬂav-‘i List-1/@P% =11
@ ay-a, M 1
1
(b) 2a,-a, m 3
1
(©  5a;-4a, (i) g
1
2 () 3
The correct matching/ 580 &6 : -
(M) @-Gi), b)), ©-@v) a (@} (13, (0@
©) (@), (b)), (c1) @ @0, Oriw). i

18. A and B undertake to do a work for ? 6’000'. A alone and B alone can do that work in 6 and 8 days
respectively. With the help of C, they have finished the work in 3 days. The share of B's is -

A, Bew 28 300 T6,000 0% Saboed8 ad)otio HEOEER. A, B en DDA & 599 S5 6,8 8w
B, CHFabos® & 50 3 Bw6's Gro300. O Baver ;
- (1) T2,400 ((;)/ % 2,250 (3)  ¥2,000 @ 71500

_19.  Theagesof Aand Barein theratio2:5. Eight years later, the ratio of their ages will be 22: 43. Their present
ol ages are (in years) :
A S0ain B @) Sabiigen 2:595)86° avnon. VDB SoSS)Bves S, 0 Sabine 58
22: 43 ©H&H0D. O (S Sabigen (Son k) ;

14, 35 @ 16,40 @) 1845 @) 20,50
20.  IfP,Q Rand Sare the mid-points of the sides AB, BC, CD and DA respectively of a quadrilateral ABCD then
the quadrilateral PQRSisa:
(1) Square (2 Rhombus
(3)  Rectangle (Q)/l'-’arallelogram

S0 ABCD &% ¢hamen AB, BC, CD oy DA © S DothPen SHIT P, Q R, S 88, e
:‘56:5@230 PQRSe2.¥ :

(1) S&gEo (2) Sosssyeo

(3)  EgsEso (4)  Ssross SHtmo

3 __‘—_—_‘-_-——.__‘__
21.  How many times, the speed of the minutes hand is more than that of the hours hand ina clock ?
e}
28 HEair5od® D2ne f:?féﬁo fote Suey o Ky DY Bty S ? (
(1 30 ) 24 @) 12 4 8
e e

P-T
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" ’
irst torm and the last term is 60. If the sum of the terms is 195, then

22.  Anarithmetic progression has 5 as jg f
the common difference is

o8 o3 Qs s S0 5, D56 5y g o HEme Todo Dend 195 LIS BHPOSLO :
11 2 o9 @) 7 @4 12

= _____-'_"""-—_._________—
23, Apieceof work canbe completed by A, B ang  individually in 12,8 and 6 hours respectively. All the three

worked for two hours.at which point of time C [eft the work. The time (in minutes) taken by the other two
to complete the work is :

A,B, Ceo QBB 2.8 B SO 12,8, 6 gope6® 7 Scbrios. Swrth SOD Do foben $9 BHS

SoryS CHQ 60 Ined. WO 2y 508 o 50 TG FaPLPRS HES FiSocHo (ADTE) :
a 12 2 24 3) 62 w7 !

s —

3 N
24. A personsold 1 th of his articles at a profit of 25% and the rest of his articles ata profitof 17%. The overall

percentage of his profitis:
" 3
2.8 58 08D 5§ &) BHHOS® T3 Som, 25% S eWT. DifEe SWHOD 17% ogdols

: @gb&aﬂffal @ﬁa})d) @éagzé:dééb@ ;‘){)‘Ja’) erdf FSRW
(1) 24% 23% 3 22% 4 21%

25.  Inthe figure given below, ABCD is a rectangle and CDE is a semicircle. If the length of the rectangle exceeds
its breadth by 7 units and its area is 98 sq.units, then the area (in square units) of the semicircular region
CDEis:

& (808 Be0s® ABCD a8 ﬁg’déad@a‘m. CDE &8 eg5do. E:g;ﬁé:d@:m FED o) Iy KB
7 dhrey @@Eore éotwr, 98 SB5 direldly Sevego £9 &o8, @t ofSase8o CDE (@08 Jeexo
(556;’3 cﬁm&)gﬁe) - anr0: -0

E

2 \c

A = B
n PE
mn 7 2 49 @ 57 L4 77
26. Inaclass of 30 students, 10 members of Physics main have average of 72 marks, 5 members of Chemistry

main have average of 66 marks and 15 members of Mathematics main have average of 80 marks. The

average marks of the classis:
30 08 dgHes Ko ol S8KOE’, P88 TRO BeRorr Ko 10 Hod Ao SR Jrtym 72;

BRPaDs BP0 (Bersore Ko 5HH DO Joe0 Srtinen 66; KBS Ko BErsore Ko 15 Ho0d
Demgepe SO0 Ertipen 80 SEKBE wotd IR SR dntipen
1 69 @ 70 @ 74 /( 75

27. A carcompletesajourney in seven hours. It covered half of the distance at 40 kmph and the remaining half

at 60 kmph speed. Then, the distance (in km) covered is :
28 S 2.8 (S Db Hoedt FroTRD. ©8 s S ) Mot 408.&. Srostsr, WADS

K0 tSroR Mot 608.8, Ho8%sr g TR, YD, Bairdods ndo drto @.&.0¢) :
(1) 280 (20 300 336 @ 420

P-T 7-D
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28.  The profitearned by selling an article for 1 7 :; make 30% porisf::‘;‘"rred when the same article js sold for
¥850. At what price should the article be 5O . articl

559% T8504
28 S5 T1000% 93;83 SO gD, o3 G&b@ 553.) 53@35 Coth By, e 5%:9%

- ?
D 568 syd, w508 30% o S0 ° ) 1170

1) 1100 2 1150 @ 1270

‘s ared gets j .
29, lfﬂu:‘SideofasquaremcmaSESbY?-]%thenltsar 8 lncreasedby.

a8 SEB60 ghaos® BhrdEe 21% oS TR g""% 2678 :
(1) 42% (2) 44% 46% (4) 13.41 %

30. The distance between two stations A a'?d Bis 300 km, A person leaves the station A to
reach B. He starts at 10 AM by car by driviﬂgw‘th?].;ap‘:fd f45hnph for the first two hours and remaining
distance is covered by driving fastand reaches destiNationby 3.30 PM. The speed (in kmph) with which he
travelled from 12.00 Noon to 3.30 PM is:

Dot I A, B o ¢y &rso 300 8. A Dol adben d6 o8 38 B JoresaHoamds.
S50 10 Koo, Kokt 45 8.8, 3K08® BB Botd Hoven =& (Hasedoms, 3R 20D e

B (Satrdon . 3309, o KT SOFTD. $.1200%508 3. 330569 €8 Bardos

Jro (Kot 8.5 .06 :
p))i.u 2) 65 @ .70 @ 75

31.  Alent% 5,000 to B for 2 years and ¥ 3,000 to C for 4 years on simple interest at the same rate of interest and
received ¥ 2,200 in all from both of them as interest. The rate of interest per annum is :

Ae3 568 BS 2 Soddpe 5000087, C & 4 SoSHres T 3,000 ol 28 S8 oo 588 )
AT, ©3DE SO Iwdo $§ 32,200 wowd S0SHHTNE e 5§ Tew :
(9/ 10% @ 8% B 7% @ 6%

32.  Person A completes a work W, in 6 hours while person B completes another work W, in 6 hours. If
W, is only equal to two-thirds of W, then the number of hours required for A and B together to complete

both W, and W, is :
58 A2s 5D WD 6Howd rodcomr HE'Ss B HEE5 W, 6 ot Fradabied. 59
W, 83 W, & Sirdod) Bors Sodh Sm($h solf; A, Ben aigte €0 eBoth Hielr Fr8 Saberds
5’3§ Kote Sogy : : :

1 6 @ 7 Yol @ 8

33.  Fivepersons A, B, C, D and E start a joint venture. Their investments are as follows :

B and C invest equally; D invests half of C and double the investment of A; E invests twice that of B. IfE
receives X 24,00,000 as his share in the year-end profit, then the total profit (in rupees) :

RO Sgen A, B, C, D S0a50 E ey 2,4 al omoR (CoRoTt. 0 Degatben (Bod dgorr
aIHow :

'B, C e {dSrdore Degel '?-')QB; D?ae.au;m&, C2enpls dro DO A‘a‘ntgm&% Bgo@; E?Jeam& B’o)e.gaﬁé
Oollosen. BoSHROS €506" 22400000 ey 5 apére 068, Twio ergo (Erdrand):

(# a0 @ 54,00,000 (3/:7,00,000 @ 7600000

34. Aright a.rlgled isosceles triangle hag hypotenuse of 12 cms. Its area (insq. cms)is:
2.8 ©0® JDEERS (BeHad) 880 1208, vy Save (5.%0.8. ©6%):

m 12 @ 24 /a)}o 36 @ 72
___‘__-____-_-_'_'_'—\—-—.__

8-D
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It A gets S50% more salary than B, they

VB pets how much percentage loss salary than A ?
RS0l A8 50N dito IS 3§, Agop's

A¥OD oo Q08 T30 By 7
\ .‘

(n 25 (> .\L‘- R @ ',‘

By selling two items cach tor 2990, merchant gets a protit ot 10% on one and a loss of 10% on the other.

The result to the merchant in this transaction is :

Loss ot 1'% )  Protitot 1
d)  No loss and no gain @) 2\ loss
o dRQew afHEE Tooo § SN ol Y08 wEOP 10 evgo o, B @Op 10% Igo
IQOR. 3 ovarddS SFHIH SQYN J0o |
(L) I R RSN )  1Neego
Q) I S, engar B (@) 2% SRe

':\ village which is recorded having population growth of 5% annually has population 18,522 at the end of
the year 2013, The population of the village at the beginning of 2011 was :

B8 JoJYH0Ar, SH wTr WSO STeFS af (Eos® 2013 $ Soddorod wargr 18,522
7 2011 (@000 T8 » (e wIvgr

(1) 14,000 ) 15400 A) 15,800 @ 16,000

Three cubes whose sides are in the ratio 3: 4: 5 woere melted and a single cube, whose diagonal is 24,/3 cm
was made. Then, the sides of the original cubes are ; (in cs)

3:4:5 WPYJS® ghassiven Ko Sovtd HVTVOD SON0D, 243 V0. BPo Ko wl HIJwr Scrd
Tl eNpd, Inoss af)s Pdtne Hedives (Ro. . osk)

(1 1216,20 @ 91215 @) 135180,225 ) 15,20,25

39.

AB is a line parallel to the line PQ. 1fC and D are points on PQ such that the area of AABC is ‘a’ square
units, then the area (in sq. units) of AABD s :

X560 POS (xmost Bp AB. Se PQR Dotiden C, D en; AABC Jarego ‘a’ S86:9 cardey sdiytyol
SQD AABD Feroo (3589 ahrdRe®) :

A a @)

=

® 3 @ 3

AB =13 m is the diameter of a circle. A manmoves from A in a straight line and meets the circumference of
the circle atC. 1f AC=5m, thenCB=

1 8m 2 10m A 12m @4 11m

&8 I Eg) Tosn AB =13, e85 Aol o SEEtpp Sairdod Y60 P Ced DoHHH
S6E 0. AC=5D,. eowd CB=

M 8. @ 10 @ 123 @ nk.

41.

78,400 was divided among three persons A, B, Cinthe ratios A: B = 5:4and B:C = 6:11. Then, the share
of Cis (in rupees) :

T 78,400 Saopth> Jghen A, B, Co, BP0 A:B = 5:4500k0 B:C = 6:110¢° 503 0dSo. wp,
C8 3 So (Erdraved®) :

(1) 31,200 () 34,000 2 35200 4) 36,200

P-T
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" X B+ B =12, thenavalue of xis:
r=1 x+1
35
x - " x3-f‘1 =12 wand x @o%) &8 Dendd
e e
43.  Ifeachside of asquare is decreased by 25% then the ratio of the area of the resulting square to the area of the
given square is :
2.8 SEBHo B ghao 25% SAR, G Rl iégp\@.augoé@g‘ (58 S5 BTSOA Ko VB -
W 1:5 @ 4:9 9:16 4) 25:36

44. Letsbe 15?2’.% of 24, t be 331% of 9 and u be 20% of 25. If s, tand u are the sides ~f 2 triangle, the angle
- 3 =
opposite to the side of length uis:

24 & 16%%3 s ©, 96° 33%%3 e, 256° 20% ued ©Hs%8. s, t,ued ghere DEHeorr Ko 2.8

(Bgheost, DD uKe ghad s Bo
(1 30° 2 45 (3 60° /u/90°

45. Length of a rectangle is five more than twice its breadth. If its area is 273 sq.cm., then the area (in sq.cms) of
the circle, whose radius is equal to the breadth of the rectangle, is :
o8 BESHEP0 FEH O D BGoDEY) wowrd Qs TR Perese 273 3.%0.2D. ®ond, @
& (3% Bee)so aeegore rfo H)f 3o (5. 20.80.06°%) :
346.5 @ 12325 (3) 140 @ 210

46. The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older than

captain. If the average age of remaining 9 members is one year less than the average age of the whole team
then average age of the whole team is :

(1) 22years 23 years (3) 25years (4) 24 years

11 008 Hebseos) o GBS noBH IRS Sabky 26 Dy, ) IBES 856 Sabiy IO Bakdy) Ko
3 %0 )oen DS, o BYOWD HOPHD Hakiiy KoB3 NP 9ok Hghie VOB Jcby) &8 JosFvo
Bt ©ons & Ino 80D JTHO HAHRY) :

(1) 22R058yoren (2 23Rosdren (3) 25 RoBdoren (4) 24 JoSE e

47. A person A starts a business with an investment of  1,00,000. After two months B joins with him with an-
investment of ¥1,20,000. After eight months C joins them with some investment. If the profit at the end of
the year is shared equally, then the investment (in rupees) made by Cis:

28 58 A, T1,00,000 T::é.:gm&é‘ a8 TR (FGodoBd. Dol Jov d$Hard T 1,20,000 ‘a&ga&ﬂ‘ B
28505, WG Joo EOTE 508 Diypds* C 08° wdEORN. JoSHTrodAnS SO ovgrd O
Ravorr HoHE°oB, C 2eReldr RS Ando (Krdrond?) :

(1) 500,000 (2)  4,00,000 3y~ 4,50,000 (4)  3,00,000

48.  The number of digits in the smallest positive integer which is composed entirely of fives that s divisible by

P is .
gagf;)\z‘ SHED D8, 9 3 erhoded 83 repols somgd ®80Y IS woBe Vogy :
9 2 12 @ 15 @4 18

o 10-D
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A room is 5.2 meters in length and 2.0 metarg in width. The least number of square tiles required to exactly
cover itsarea is :

&8 1D Gt ErEs) 5.2 Dot H080kn o 3oy 2008, & KBD pYSore SHEE Sotos® SoTrecl
SPHORS oo Joyy

M 9 (2 85 @ 75 }/ 65 v

50. If x =03 then 2=
x =03 oondS® 2=

1) 03 @ 03 @\ o001 0

S1., “Aand Bcando a piece of work independent]y in 12 days and 16 days respectively. They worked together
for 4 days and B left the work. How many more days A worked to finish the work ?

28 DI A, BIEIE™ SGST 12 Beren, 16 Swrod® G0 Sabkets. TOKEr S0 4 Sfwen 30 IS

S0y BIY I0D Jgeth. ADS HID o8 Faherd8 A S awose A even $Bod ?
n 3 2 4 5 @ 6

.

49.

52.  Suitable term in the following sequence is :
Bod evdEsnos® H¥8 ewans HEo :

ACERIGMOQ,
WONRTYTT g s U o _am

53.  Inacodelanguage ARISE is written as CUMXK. Then the code of WORLD in that language is :
2.8 §°€ gri6® ARISE D CUMXK 1P (32388, olpt gk’ WORLD Gng) 8°5 :
(1)  YQPJF /g YRVQJ ()  YSPIF (4) YRPJF

1
54. The rate of income tax is reduced to 125% from 16%. If a person has taxable income of
¥2,40,000 then the tax benefit (in rupees) is :
SR Sy Beo 16% H00 12%%5 foTt. o8 K88 Sy BPoD &I WO T 2,40,000 S
mgﬁe soe(Srarandf) :
(1) 4,800 (2) 6,400 @) 7,200 44)/ 8,400

55. A circle of 3 cms radius lies inside and touches all the four sides of a square. The area °
(in 5q. cms) of the square is :
3 %0.. grgo Mo ad HEO o SSGFos Se, o0 ©l) aoero 3) )85 @od.

& SHYEH Seveso (3. Ro. .06%) :
(1 9w 2 9 @ 18 ,(lf 36
56. By selling two articles each at T 480, a merchant gets 20% profit on one and foses 20% on the other. In the
total action the merchant gets . no - 1..’;%_-
4% loss (2)  noloss no gain <
() 5% loss (4) 5% gain
S5 T 4808 ©RyS Botd StgHep et SGHIB e8P 20% engo, Bok® P 20% Sigo Sod. &
o rrBdE W SHHOS SNIO
M 4%Sgo @ S§Eo Sch, evghin Bk
®) S%sgo @) 5%ergo

P-T 11 . D
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P

Six people namely A, B, C, D, Eand F want to sitarounda heXa_gonal table in the following manner,
A and B want to sit next to each other. Eand F want tostt OPPOSItO to B and A respectively. The number of
different ways in which they can sit such that abOVf-;':ondltlons are satisfied is :

A, B,C, D, E 508050 F &3 etorhd dghen & o SEBE° ey Hperses oy Dy KPS SoTd.

A SB35 Beo 2.58 S LEE SRENISTO. Eéﬁiﬁ” Fen St B 58 A 0 Jome SrbNSS8:5.
& JohEresirbnomr st KrES HORS T E’s‘;”&

m 1 2 3 4

(4)

58. A person starts walking from a point A towards South for 100 meters and turns left to walk 40 meters
East. Then, he again turned left to walk 60 meters towards North and turned left to walk 70 meters towards
West to reach the point B. Then, the distance between the points A and B is (in meters) :
28 358 Dot A 08 im0 B S8 Intser D 100 Doesthy $AeE $ Ak ZHH HON 40 ooy
ERGp DS SBE,  DBerED EHDHS 80N 60 LY agto 3% B8 B A FHH 80N
70 Sty DT Bhisordy Dothody BR Botomyed. At Dochihen A, Bo oy &80 (otré®) :
(1) 90 @ 70 3) 60 @50
59. If TRIANGLE is coded as USJBOHMF then the word coded as TRVBSF is : f U
TRIANGLE 9 USJBOHME re &€ 3% TRVBSE '8 00085 5o :
(1) CIRCLE 427 SQUARE (3)  RADIUS 4) ROBOT
60. The area (in square cms) of an equilateral triangle of side 4 cms is :
4%0.5. ghaso Ko Sersm (Beha Preg (88D 0.d.086%) :
m 3 & 4B ORENC @ 3
61{ It 8% of a property is T 1.76 lakhs, then 25% of that property (in lakhs of rupees) is : )
25 6B’ 8% Dend T1.76 05w ©owd © s’ 25% Jevd (oFe trarond) :
1n 11 2 9 3 75 (4)/ 55
Note : In questions 62 to 64 pick the odd thing out. ' e
eSS 1 625908 64 555 Ko HHOS® $0 FooeR) 180S0l
62."°'(1)’ " 0.000001 @)  0.0001 @ 0.00001 @ 001
63. (1) POND @) LAKE BRIDGE 4 TANK
1) How @ 83y @) So8d @) BHH
6a. 0Q 2 K (3) HI @ TG
65. The next term in the following :
Bod TBE° SHed J8o :
3X5,5U7,7l&11, 11013,
P 131y "2 138M17 @ 13N17 4 13K17
66. Fill in the gap below with suitable number.
@o&\wﬁ‘% pelaler it n)om'g%z ‘:’y&odo&.
(= Li > 11
% 5'hn’ 26" T '122
— 2 B 2
T @ 3 ® & @ &
Pqi] " l= . 12 - D
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67.  The suitable term in the sequence given below is :
0B sy ©HED0S* X0 wavs Hxg .
: ol '
OFL EGJ, FHK, GLL Hpm
5 B @ HN /g)' GIL 4 GM

e ————

If two cubes each of side 12 cms are joineq face to face to form a cuboid then the surface area (in sq. cms) of
the cuboid is :

12%0.80.0 g9230 Ko Bod e dngreds S88 DO B w50 as680 Jerego (3. %0.5. o6
(1) 1080 2y 1440 (@) 1460 (4) 1600

6%; Theratonal numberwith tecuring deciugyl representation 0.1 2 is:

DI Serod DGBe 0.1 24 83 e¥sdas Somy :

* 41 13 47
M 3 330 ) ' 330 @ 30

70.  The total number of squares in the following figure is :
& BIOHD &%) HOBE’D Indo SHT(Rre Koy |

1 25 @ 26 & 50 4 55

71. I GALAXY is coded as DXIXUYV then the code word for STAR is:
4 o 94
G;L{A;(YQ DXIXUY e S°€ Schedd odpt STARS &% Hdo :
(1) PQXN @ PQXM (3) PQOX »\1{ PQXO

72.  Fill in the following gap with suitable letter.

$OGES wEBes® 8od grbd Froosol
- % -
ADIP, . ,
M X Y @ U @ z

73.  For real numbersaand b, if asb=a2+ b?—3ab then {1 *(‘1)]"'{\/_ o ﬁ}*

155 Somgen a, both asb=a?+b?~3ab oand oy {1%(-1)}+{V2+V2}=
n 2 @ % ® 5 4 59

PT -1 237200
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Note : In the questions numbered 74 to 76, observe that each que‘:hon(Q) is followed by two statements S, an-d S,
You have to decide whether these statements answer the quéstion Unambigyously. Mark your answer as:

(1) if(S)) alone answers (Q)

() if(S,) alone answers (Q) i
(8( if (53 and (S,) together answer the question (Q), but neither of these alone can answer

(4)  if both (S,) and (S,) are not sufficient to answer the question Q)

SRS 1 74 08 76 565 ap)s @Bhed B8 BHQ) F TLM Tos GISTes (Sy), (S;)  aglIsy
#Slosed. 53 Q¥avosSedodHsm, aQd BSSmroSd@riod Bodid Sbore FFowodd BHH
BT :

(S1) S (Q) & erendityigd & siweriso (1) o ;

(S,) Sr(&3 (Q) 8 asarenSDB & Bagriso (2) o ;

(S)), (S,) & Dotk w556 SSrerarQyiY, ©otde’ D 2HYEIE warauSy TEBEB d J5merso (3) o,

(Q) 8 SSrEesBERA (S,), (S,) v Botir KODENB b Srerso (4) rr HBOIA

74. Q Is A a friend of C?
S) - A is a friend of B.
Sy Bis a friend of C. ‘.ﬂ
@ : CaAdmem? Lk
S) B& ARretd.
S, C8 Byir.
75. Q Which number is alloted to the letter 'S’ ?
S - The 26 letters in the English alphabet are numbered 1 to 26 in the order they occur.
Sy - Thevowels A,E, 1,0, Uare numberedas 1, 2, 3,4,5 respectively. U)
Q ©g50 'S’ 8 BeranodS Sogg D6 ?
S) wolf EESraE’D 26 VETOH ©D &0t EH06° 1 %0D 26 5% Jomgen TercnoTo.
Sy o)en A E, 1,0, Uob S5 1, 2, 3, 4, 5 Soggeid Seronomth,
76. Q) What is the area of the circle ?
Sy The circle touches the four sides of a square of side 5 units.
Sy - The circle lies inside a square of side 5 units.
Q 8 Jerogbod ?
S) Hgo, 5 Al ghesorie el IHEKH Trenrd eheresr ) 8%08.
S) : Z)Bo, 5 ey eheorie el SHSHo Eo5e @ob.

77.  Suitable words that fill the gaps below are :
School: _______:Students:: Hospital : —_____ :Patients

(1), Teacher,Medieines (2)  Class room, Medicines
(3 Teacher, Doctor (4)  Class room, Doctor
(808 grdo% Frood $BLwS Stven :

oo IORH0 BB ghoen

(1] - SPEREES, St (@) 8558 KB, Sootken
() oo By @) Sor6 Ko, o

14-D
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Which of the following diagrams suits wel| o represent days, weeks and years 7
808 e’ D6 Sleren, e TINY ﬁog,%mom Jdedothiath H8rme HoD¢dol 7

1) @D @ © # @

e ——

79.  Fillin the gap below with suitable worq.
Fruit : Reap : : Flower :
1) Grow )

Fragrance (3) Bloom 6‘)/ Fall
Bob 5B VOGS HK08® FrBoSoA,

POIW : HoLko : : HA)o

(1) Brwo 2)  Herdosto (@) Ddodwo @4 oo

80. Find the value of x.
5 (

x Deoskd EXshol.
4 230

25 100

(1) 200 @ 210 22

81. Thevalueofxis:

x e : .

5 4 3] e e
[el8]ox] [s5]|7[8]et] [4]6]7]18]

7 6 | 5
1) 136 @ 138 (3) 340 @ 10

82.  If the following square is rotated thml:ﬁh an angle 90° about O in the anticlockwise direction and then
reflected through a line parallel to AB, then the resulting square appears as follows :

808 SEBE O rbore 90" esissy 536 Phmo b 6P ABE Simodbore &) o Sy rboc Soxsgo
93, 5T SHYHo Bod Dorr BB
£

%
D C
= P
A B )
B C A P A
(4( @ ) @
A D B C C C D

P_-r 15 - D
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83.  Theordered pair (x,y) =

1M (23 @ 43 3 29 4.2)

84.  Consider the following triangular prism ABCD. If three faces ADB, ABC, ACD are labelled as 3B, 1y, 3
respectively, then a suitable label for the fourth face BCDis:
808 Beherss S¥o ABCD D 8iosfoll. o S dngren ADB, ABC, ACD o SOIP 3B, 1V, 3

o8 r0d, s Soep@d BCDE S0 of &8 :

D
1V,
C
1 4G 4Y 3 40 @ 4
Note: In a code each vowel of English Alphabet is coded to the next vowel cyclically and each consonant

is caded to the next third consonant cyclically. Thatis, A—E, E-, ...., U—A and B>F, G-K, S—M,-_'
cers X5B, Y-5C, Z5D. The reverse process is used for decoding. Using this code and :
processes, answer questions 85 to 89. )

SrSS: ol SES wof eXsirest 58 eXie $08 e SEabore SE 38, (58 S o0 Sobd
5%) Sore® et Sovor 58 Sahold. ©od, ASE,E-, ..., U-A; 5505 BSF, GoK, SW,

...... X—B, Y-C, Z-D. 62 86555s :.sgaess A-S580R Bcholod. & EEoR, A-54d
HZHOHBARAON 85 5008 89 SEH Ko (HHod amraddiw. :

85. ThecodewordforBLOCKis: F U

BLOCK & sﬁE S0 \z2
(1) FPIGN (2 FPONG (3 FPEGN 5
86. Thecode word for ARMY is: AV el
ARMY 8 &°€ %o :
(1) VQCE (2 QCEV }j) EVQC W S :
87. The wordcodedas HIPLOis: 3,9
HIPLO r 88 Sceds S0 : Y |
() KOREA @y~ DELHI 3 PATNA o xoa
88. Thecode word for JNTUH is:
& %€ %o
: = i € () PIXEL @ TAXES
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89. Thewordcoded as VIH is :
VIH re %8 3cheds $8o -
(M ROb RED (3) SET @) SUN
. ‘a ___--"-‘—‘_._-__-__
. Tt tolowing eplates] tiangle is reflected about the angular bisector of C and then rotated through an

?;‘ cl)e‘:vlsZ_O‘ about its centroid in the anticlockwise direction, then the resulting triangle will appear as

(Eob Jersso Beber) C 56 B Kisaumorts B Mot Sstso B080D e o Sogrgrdo fhoc
SSRIPIE 120°E'm08® $0gsueao0 §, 53) (Beheso (Bod Disorr otwob :

A
B C
C A A B
@ @ R A o A
B A C B B C C A
91. A meaningful arrangement of the following is :
(@) rational numbers () integers
(© realnumbers (d) naturalnumbers
(Bod T8 2.8 e8S0EDS eldk ;
(@) @55 Soggen b) Trposen
(© o35 Soggen (d) Rea Joggen

Choaose the correct answe;;/"é/b@:ﬁ a0 doD¥ Dahod :
(1) (@) (). (). (d) (d): (b), (@) (c) @) (@), (). @) 4) (a). () (). (@)

, then the sum olf areas of

. 1 N 1
92. If R (n € N) is a rectangle of length 1, =— breadth bn_n+1

1 g ! 4 ol ) - )
PED 1, “ 3dew) by T Ko 5§5‘535Lc00 R, (n e N) ®an@ R, Ry,.%, Ry © Severge Ao ‘
% 101 y 10 P IR
o I @ 10 ® 0 E

93,  If the following square is reflected horizontally and then vertically, the resulting figure is :
808 SBRF) ABas Simostore STEGI 3 6 augiopore Sovssso dke Sy S0

ol o] »L]

P-T 17-D
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1 the (ollow g squares of sides each2cma

L E, then its volume (inem ') is

B0 oo 27508 1 Ko (Bl SBA0E® o8 LG SOPY ABCD | werbors, 8%rts Stors o
DI HOIPEo (o.M Y eed) -

D

]

1)

B8

()

16

GET IT ON
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re used 10 form a ree fangular pal‘n"“lnpl[mtl with base AB( [y

o)

.

(4)

64

The following table gives heat index h = h (T, H) in terms of temperature T° F and humidity H%. Observe the
table and answer the questions 95 and 96.

o8 T°F, 3% H% o6 agovdo h=h (T, H) 2 (8od 3G r0%od. 3QESH A0 95, % SHebd

wrmw ol

T % 50 60 70 B0 90
90 96 100 | 106 | 112 | 119
94 104 | 111 | 118 | 127 | 137
98 114 | 123 | 133 | 144 | 157
100 | 119 [ 124 | 141 | 154 | 168

95.  When the temperature is 98°F, the average rate of change in humidity is :

AR/AS 98°F rm APYPED, B 6° Jiew EntigyBen :

(m 14 @ 150 p{ 1.075 @ 175
96, Whenhuudditynaﬂi.ﬁeamageuteofchnngeinlempenmw

8 80% m QYYD SRPNSS® Srew SrcipBen -

m 4 @ 42 .4{) 43 @ 44
pP-T 18-D



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

il

P

Note: j‘:‘:::"e):i':]““_dgcmd ©On 100 students with regard to their sports activity revealed the following

]Foolbt:l;: F)“-C .v:ry student wh, participated in the survey plays atleast one of the three games
lay all tl(m three ;;(C) and Volleyball (V) ; 20 play only F;30 play only C; 25 play only V while 5

l; ar)\rd Conlvi ee. Vioreover, § play both Fand V but not C, The number of students who play both
et -}:‘;s Samtf as the number of students who play both Cand V only.

) sing t J’S Information answer the questions from 97 to 100.

Wi eLoS $onoBod 100 08 Doz, w0 $3y Bob SErra e Thod : #4460 1Y
88 Doogd ErloBe K050 D8 ok s whErts. ©D HESerd (F), (835 (C) S0 DS (V).
20 %008 F R Sr(E @ums; 30 0p €9 S etoaty; 25 £08 V D S eba, s
5t Sardodd edarts, gogs.g' C 9 stoce Fodso Vol A8 8508, F Cex Bolodd
Sr@D o VTR [0y ; C, V e Bolodd Sri@d o Domge Sowpgt S&mdo.
& JErToD aSEEND (808 97 S0l 100 S8 Ko BHeo aTrmen alel.

97.  The number of students who play atleast two of the three games is :
St wed 800 Bo8oBR 2 e 0wy -
% -

1 22 R 23 @ 24 @ 25
98. The number of students who play Cis:

CR &3 drmgde Sowy :

1 45 46 @) 47 @) 48

99. Inall how many students play V ?
Ao DS dod Lood 3)@;3?&'0 VR sbhed ?
) 44

1 42 B) 46 @ 40

100. The number of students who play Fand C butnot Vis:
F, Cod ethdr VI eid :);456393 dogy
)

I 3 4 @ 5 @ 6
101. Match the following :
List-I List - 11
(@)  Mycology (i)  study of pollen grains
(b)  Palynology > (i) study of treatment of tumours
(¢) Oncology v (iii)  study of fossils of animals and plants
(d) Paleontology (iv) study of fungi
238D
o -1 erdor - 11
@) Dod () oo Twde oggabio
b DOrod () s%%6 8 SowoBodNs
() wosved (i) Borere 1HBOD eidbido
d) Hodirotred (iv) A0olgre 180D ergahivo

The correct match is/ 58 WOGES &80 : .
(1) (ﬂ) - (l].l), {b) - (u)' (C) o (])’ (d) - (l\') (2) (a‘) = (ll), (b) = (l.l.l), (C} = {iV), (d) ™ (l)
m/ (a)- (iV), (b) — (l), (9)- (l.l), (d) - (ii.l) @) (a) - (l)’ (b) - (l.l), () - (iv), (d) - (I.ll)

P_T 19 - D
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102. Match the following :

List-1 List - II
(Plant) (Edible Part)
(@)  Potato (i)  Swollen thalamus
(b)  Carrot (i) Vegetativebud
()  Apple (ili) Modified root
(d) Cabbage (iv) Modified stem
& 800 DD 2ESLHSD |
efar - | edoe -1
(S5 (B3@rr{RS Frrio)
@@ =orreesos () afd HaHIIE
OIS (i) GrIrosdo J0BI IO
@ =3 (v) Grrodto BobS scoko

The correct match is/=28 $0&S £°80: :
@& (@)- ), ©)- i), (- ), (d)- i) 2)  (a)-(i), (b)- (i), (c) - (1), (d) - (iv)
@) (@- (@) (b)- @) ()- (v), (d) - (iii) @ (@)- (@) (b)-(iv), () - @), (d) - (iii)

103.  Aqua regia also known as royal water or king’s water which can dissolve noble metals gold and plati

is a mixture of :
(a) Hydrochloricacid (b)  Nitric acid
Hydro bromic acid (d) Sulphuric acid
The correct answer is :
(1) (a.()and(d) (2 (@)and(b) (G) (a).()and(d) (4 (a).(b)and(c)
porrEn B FBIHOH S6hosK TS eE Sor 8off) T Bevdod essx OAdD
| FSo
@ TEFOS e b) 365 expso
© FTEEDE s (d) Seoms08 sxpEiv
[OEoS DSPEeINw |
(1) (@) (B)30an(d) () (@DOADB) @) (a)()HOAW(A) (4) (a), (b) SO |
I
104. Household refrigerators work on the principle : 1
(1) , Peltier effect (2)  Seebeck effect
Joule Thomson effect (4)  Photo electric effect |
80K B@ETLE SISk dAborH Ko HmSo -
(1) 2PaHb $9do (@ 438 3080 _
@) &S eSS o8 (@)  sob Dex8 5080 |
—_— —

P'T 20- D 1
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105. Heparin is an anticoagulant found jp blood and it prevents blood clotting within blood vessels and it is
prpduced mainly from:

)  Kidney (@) Pancreas (3}/ Liver (4) Spleen
T30S $Eos” ot &8 (HBR)oES Sorgsn. 30 59 BET o6’ HESL Hote aotobé® B a5,
20 Joggore 82 ol BENDOKD
1) HHso @ Soonw (B) sdcho @) S
106. Identify the correct statement :

)  Theresistance ofa metallic conductor depends on the potential difference across the conductor.
(2)  The resistance of a metallic conductor depends upon the direction of the current in the conductor.
(3)  Theresistance of a metallic conductor depends on the length of the conductor.

(4)  Theresistance of a metallic conductor is independent of the temperature of the conductor.
Bob THS® HOII TgFD HBoSoA

(1) 28 EFH FES ) 0 oo otfy HF) OYHSE oo P BERESE Hool.

@ o8 FFH TEEI T A o ($58rod DS EaErEn 6F P GGRESE Hokod.
@) o8 &5 TEES Q) Ao oY PP STEHE Hoknod.

@) 28 &Y TE B B SSw PRSP STBDE Hoke.

107. Match the following:

List-1 List-1I
(@) Glucose (i)  Polysaccharide with Nitrogen-containing carbohydrates
(b) Starch (i) Monosaccharides
(c) Maltose (i)  Polysaccharides
(d) Chittin (iv) Disaccharides
236855003
ardor -1 &dae -1
(@) rxs*E ) BS*=S L0n aX) FOFEDE =B FTEES)
b B i) TFEBE)
© SR (i) OJLBE)
@ 008 ) E>EE

The correct match is/ 26 J0GES &80 :
()~ (i), (b)- (i), (- (), (@)-() @ (@)= (i), ()~ i), () - i), () - )
@) (a)- (i), (b) - (ii), (c) - (iv), (d) - (i) @) (a)- () (b)- (), (c) - (i), (d) - (i)
108. Identify the correct statements : G
(a) Late blight of Potato disease was the causative factor for the ‘Great Irish Famine’ of 19t century.
(b)  Brownspot disease of rice was responsible for Bengal famine of 1940's.
()  Theinserted foreign gene in Bt cotton offer resistance to bacterial diseases.
(d) Crown gallis a viral disease.
SODS agage oSl
() 193 dorgd T 00] EHH © SPBEPED) BOMPPHOSD SO 85 B & 50.
(b) 56 Ao Borb Soig) R, 1940 53806 DD Bores K seemo.
(© BB SIEDHS edgudyd (foreign gene) erfBchS ryuiiol Bk EDDR00.
d) ESrd oo o8 38T 6.
The correct statements are /380w TFZATED
M (@b @ ®.© B @) () @ 0.
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109.  Which is correct in the following ?
Inan electric circuit -

(1)  Ammeter in parallel and Voltmeter in series aré connected.

(2)  Ammeter in series and Voltmeter in parallel aré connected.

(3)  Ammeter and Voltmeter both are connected in eries when the voltage is small.

H{ Ammeter and Voltmeter both are connected in parallel when the voltage is very large-
& Bod VS DB BoEHEe ?

2.5 DeStiodiine® -

(1) s SSrosborrs, Sepdowrthd FAEE5 50D Hotraw,

@ odppsd @FEe%n, Fodnt $Erossors S0 Howron.

@) P8 ST afHpe edynd, Py Sotr 386° K0b Hotro.

(@) P8 crer S aHP ey, Sepdot Bokr Sirostorr K0 Hoerav.

110. Identify the correct statements from the following :
(@) CFCs are responsible for depletion of Ozone layer.~
(b)  Water vapour, methane, COE, CFCs, nitrous oxide are green house gases.v~
() TheBOD value of pure water is 100 ppm.
8o TES® JOFEE SBeeD HBoS.

(@) &&°S D8 SKrve CFCen sebd.

(b) DB DB, MBS, CO, CFCen, JR sB)E en (AS FTH TcimwIe.

€ &G 5& BOD densd 100 ppm.

The correct statements are/ & [S5Sro6® DD SO ?

1) (@) @ (@) 3 (@) (b)() @4 (b)(c)

111. - Which one of the following combinations are appropriate ?
(a)  Barley, rice, oats, jowar
(b)  Flax seeds, almonds, cashewnuts, walnuts
()  Flaxseeds, oats, corn, ragi
(d)  Oats, corn, ragi, jowar
) @md® @ GEmdd@ @ @O;@ @ (Qand@
& (80Bzr6° DB VEVDSR Hiykso ?
(a) erf, 38, LtSen, €)
(b) ®ddew (Flax), erdo, AAISp, E:565en
() ©d?en (Flax), &&5e, HES), oA
(d) L&, IHER), oA, &)

(1) (a)0a(b) @ ®)()SBain(d) (@) (a)(B)JO() () () Dbativ(d)
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112, Match the following :
List-1 List-11
(a) ’\Sl’il'i'f“ . (i) Cyclotrimethylene trinitramine
(b)  Muriatic acid (ii) Acetyl salicylic acid
() Tbuprofen (iii) Hydrochloric acid
(@ RDX (iv) Aryl methyl acetic acid
23S DB :
wrloe -1 &0 - 11
R 0 PEEFOS (SOBS
(b)  Sg0airdS s3po ()  BS PSHOE wio
© =er@DS (i) 3mESs’e8 esno
(d) RDX (iv)  «BS DS VA sfo
The correct match is/ a8 $0&S &%80%) :
(1 (@)= (i), (b) - (i), (c) - (id), (d) - (i) ) (a)-(iv), (b)- (id), () - (i), (d) - (i)
() - (i), (b) - (iii), (c) - (iv), (d) - (i) @) (a)-(ii), (b)- (i), (c) - (i), (d) - (iv)
113. Which of the following are energy giving molecules ?
(¥  Carbohydrate, Protein and Lipid
(2)  Carbohydrate, Lipid and Vitamin
(3) Carbohydrate, Protein and Vitamin
(4)  Protein, Lipid and Vitamin
& BoBarRE* ¥80 5D) LrnHOH HBoSS
(1) sEYREES, PES Sobcskn OBE
2 sBNTRES, OHE S8 DS
(B) sBYTES, (DB H0cin DS
) (S, OBE HBAL DOWS
114. Match the following :
List-1 List-11
(@)  Chernobyl disaster (i)  Peroxyacetylnitrate
(b)  Bhopal tragedy (i) ~ Chlorofluoro carbons
(©) Ozone hole (iid) Radioactive substances
(d)  Photochemical smog iv) MethylIsocyanate
& (808 TR0 KRS :
erdar-1 ardor -1
(@ 36HBS D58 () DrYedDS JBS
b)  §'S ddrto (i) FOFS sfSen
© &8 Sogo (i) OEBrErEE dorgren
(@)  SoBEIabS AW (iv) DS oRRIS
The correct match is/=f 6@ &°80 :
(™ (@)-(iv), (b) - (iii), (c) - (i), (d) - (i1) (2)/ (a) - (iii), (b) - (iv), (c) - (ii), (d) - (i)
G)  (@)- (i), (b) - (i), (c) - (iv), (d) - (i) @) (a)- (i), (b)- (iv), (c) - (i), (d) - (iii)
P-T 23-D
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P

Read the following statements : i
(8)  The biochemical events in the ‘Dark Reaction’ of Photosynthesis occurs in the absence of light.
() Theloss of water from plants in vapour form is reférred to as ‘transpiration’.

(€  Consumption of transgenic ‘Golden Rice’ prevents development of blindness-
The correct statement/sis/are:

(1) (a)iscorrect but (b) and (c) are wrong

(2)  (a)and (c)are correct but (b) is wrong
(b) and (c) are correct but (a) is wrong

(4)  All(a), (b), (c) are correct

& 8ob (B5Irer egiabto Saod :

(@) SSmasy SoTrK(Ecetd ‘AANe8 SO oKD ASEIaN Foden 52088 3HE
aborbacow.

() ©dBErHoS" Inge Hol A SehHeH TG wotr.

(€ eRgH0IBE FPES BY & 8o Sg LorEEn AB)HE BosLKOB.
& (HSSToE® DB/DD VOISR :

(1)  (a) BT3B s (b) B (c) SOTHD S°:)

(2 (a)Bc5w () ¥OTHD =*Q (b) BBGHG S0t

()  (b)SoB® (c) HOPDID 5°0 (a) OISO 5ot

@) (a), (b), (c) ® JB@BD

116.

Examine the following statements about ‘Indian Science Congress” :
(a)  The 104" session of the Indian Science Congress was held at Manipur University.

(b)  The theme of the Indian Science Congress, 2018 was ‘Reaching the Unreached Through Science and
Technology’.

(c)  Indian Science Congress, 2018 was held during March 16-20, 2018.
Choose the correct answer :

(1) (a)and (b)only (2) (b)and(c)only

@/ (a)and (c)only 4 (a) (b)and (o)

P68 S) SPofT & H0w0500% 808 somes $88D0N08 :

(@) &r88 DS) oD @) 10435 XS SBeE ;)«‘e,"c,é,‘:)17.3».5-&:cri:oé6 2BA08.

(b) ‘wosHs T Faeh / @omre ) Hbakn Bsmed oo F6L0’ ©F ko (§o)8° s
28) S°o@R, 2018 SErJaren asbrraw,

© &r88 D) 50N, 2018 ES &) 16-20, 2018 srew0S® wONOB.
$OFod aareid JodE Sabod :

(1)  (a) 2B (b) Sm8D @) (b0 () SrsD
()  (a)SBa () SmED @) (a), (b) SO (0)
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117. Match the following :

Institution/ Council / Commissiop
Director General of Indian Coyncj) of World Affairs

Chailman-aun-Manag'ing Director of NALCO
Chairman of Payments Counci] of India

Chairman of National Commission f, tecti
of Child Rights or the Profection

208 A adi5So4

Sop/ TG/ EHES
(@) =2EDS TYS & IBF 08 TOLE s
b)) 6 BYS-85H-BILoR Fags
© Do) TS 6f nolaird 38
) FESS 828 $66 BBES oF 38 38) © 3GS

GET IT ON
Google Play

Officer Name
(i) Vishwas Patel

(i) Tapan Kumar Chand

T.C.A. Raghavan
Shrimat Pandey

(i)
(iv)

(v)  Stuti Narain Kacker

®HsD D
() DS $8S
(i) S58 HEeE S06
(i) &.2.9. TS
(iv) &8 ot
(V) 08 Toech $55

Choose the correct pairs/answers/ S8GS e / aaranid Johs Bakod :

P

(M) (@), (b)), ()-(), (d)-v) @ @-v). (b)), (c)-(iv), (d)-(i)
@) (@Hiv), (b)(iii), ()-(1), (d)-(ii) @ (a)-(i), (b)-(3), (c)-(iii), (d)-(v)
118. Match the following :
Central Government Scheme Launched in month, year
(@) National Rurban Mission - ()  April 2016
(b) Pradhan Mantri Fasal Bima Yojana (i)  February 2016
() Pradhan Mantri Jeevan Jyothi Bima Yojana (iii)  July 2015
(d  Pradhan Mantri Kaushal Vikas Yojana (iv) May 2015
808 8B assBSos ! M|
S0l (Hgody Bso _ woodwds 3o, Hon
(@ TS BK)S wAS @) DS 2016
b) (B Hoo® HIS Dse Boeasd (i) 56 2016
© oS Do 4585 &8 Hir Ered (i) es~8d 2015
d)  Eord SHo® TES D8 Boeasd v) 2015
Choose the correct answer/ pairs/ S0go® esaPeni / 280 Jods Fabod :
M (@)- (i), (b)- (i), (c) - (i), (d) - (i) @  (@)-(iv), (b)- (i), (c) - (i), (d) - (ii)
(a) - (i), (b) - i), (c) - (iv), (d) - () @ @- (i), (b)- (), (c)- (iv), (d)- (i)
P-T 25-D
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119.  Examine the following statements about Para-Athletics games ;

(@)  Deepa Malik won a gold medal in the F 53/54 category Javelin event at the World Para -Athletics
Grand Pix held in Dubai in 2018.

(®)  With this win, Deepa Malik became the world number one ranker in the F - 53] avelincalegory.
(©) 2018 Asian Para-Games are scheduled to be held inIndia in October 2018.
Choose the correct answer :

(1) (b)and (c) only (@ (a)and(c)only
(a) only 4) (b)only
W—w@ég\) ﬁs{) %8005 8o someidH $08D080s |

(@) 2018 6° toerond® wbAS (ol Foo-wgsE) (TFof B§) wee® F53/5480N0 erOS &30S8
B S0 Ky HESY) FH0D08.

b) & DeucH08® B $5rOE F- 532D Dariiod® [BS0i Sonb $§ (1) oo FRoD0B.
©  2018825HS Foo-AS) ©F0b 2018 6° FESEHS" abuiberan.

DOGS a3TreN JoDE IaHod :

1) (b) 5Bk () S @  (a) SBAw (c) Sr(D

@) (a)SmEH @ (b)EeED

120. The Supreme Court on June 5, 2018 allowed the Indian Government to implement the reservation in

promotion policy of SC/ST employees in accordance with the law. What is not considered in the judgement
of the Supreme Court from the following :

(@)  The policy must be in accordance with law.
(b)  Thejudgement says that the state should make out a case based on quantifiable data.

(c)  Thereservation should not be looked into based on the data like backwardness and overall efficiency.
(d)  Comply with Article 16 of Constitution of India.
Choose the correct answer :

(1) (@) (b). (c)only «(a{ (b), (), (d) only
() (c)only )  (b).(d)only

05 @OrOROMT (FEeS Jgabaro a8 5, 2018 855 B6°| e DicHos® &rd 35.8./55. 8, BaiBKS
D) ©0enTEHETIE BXHB0N0E. 808 Dhdreds® D8/ B TSR0 S Brinys® B8 ?

@ (©80ds derso Sybars Howrd.,
b) & A (BsB0 SOIPFHE SE0¥0 (Toer) sErborT oo 8RS Agabo 8xstad,

(© BoSarendSo, Ingo ;o 0B Sarodo (Goer) sERsorT BaBEE SRS BOaHEDE
(d) 58 TrargoiD BRES 165 SHVB™ wikEBoTd.

[O@S aaranid JodE Jabod
(1) (a),(b), (c)SmD @  (b), (), (d)SmEs
@) (o)3mSD @ () (d)ED
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India’s rank in the TCIO!Jal Envi.ronment Performance Index’, 2018 was 177 among 180 nations. Identify
correct statements in this regard

(@)  Itwasreleased by ‘Down to Eartyy Magazine.
(b)  Itwascompiled by ‘State of Ingja’s Environment’ 2018.

(€)  ‘StateofIndia’s Environment coyers diverse subjects from air pollution to environmental crimes.

(d)  The top five countries of index in terms of green rankings are Switzerland, France, Denmark, Malta
and Sweden.

Choose the correct answer :

) @OOO @ @ogoy @ GO@Qny 4 @ ol

oS SY-SDS BOYYS) =088) 20186 180 Beos® rESEEY THoH 177 M HBoee. 68
RoLoRODY VOEN DHIBeeH HB0SA

(a) & JrOQ TR & NIy &3S (‘Down to Earth’ Magazine) e 3%08.
®) B RS &F 3080TT NSRS 2018 BoseSo BB,

© RS 6 208N YR EDotn’ IE worreD, PO sPfio Dol SogEse B IS Y
ool H040%08.

@ & &rDS° IO wantd el woll (AS ooloh SPobk S Dol Bymok, B, BSErE),
Sovep, RS,

é&@oﬁ aTre% oY FdHol :
1) (@) ®) () () @ (@, b)@5SD (B) (b)() (d)ErED @) (a), (d)SvED

122.

Examine the following statements related to national integration :
(@) = Preamble begins with ‘We the people of India’.

(b)  Directive principles of Indian Constitution direct the states to take steps towards bringing equality,
justice, liberty to all.

Choose the correct answer :

(1)  Both (a)and (b) are correct (2)  Both (a) and (b) are incorrect .

( Only (a) is correct (@  Only (b)is correct

2PBADH SSHSL Howododd Sob worOd H08DoNoA

@) ‘S0 grosdd (Pavosto 8 grss Trergor [EIE (Sdsroms) AnteHos.

(b)  &rE8 overorid NG8Y (sBEE) SrEred wotsdd JEmSE, TyAo, D) LYY BT SKLH
8508 srel ook sBBI0D. ' '

[O@N esaeenidy Do Scold
(1) (a) B (b)Botr HOTHD (2)  (a)oBc (b)Botr SB@DID s°
@) (2) Sr@D $6ES6 (@)  (b)&rED So@I0
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P

Examine the following statements :

(@)  Governor's rule has been imposed in Jammu and Kashmir in the third week of June 2018.
(b)  B.V.R.Subrahmanyam was appointed as the GOVernor of Jammu and Kashmir.

()  The Director General of Police of Jammu and Kashmir isSP. Vajq,

Choose the correct answer :

(1)  (a)and (b)only ) (b)and(c)only

(3)  (a)and(c)only @~ (a) (b)and (c)

808 worrod H68DoSos :

(a) edoy-soB)F & KSGE eSS 2018208 Lrdd E08° Dgomr.

()  edm-s4)B KS5Ee B.V.R. g0 D080, '
(©  wsoy-sB5 o8 SP. 35 Zog6 wxvs 6f AT m e,

DOGHS aarenn JodhE Tahol

(1) () SoBasm (b) L& (2 (b) 0 (c) S

@)  (a) 0B () Em(@ad (4) (), (b)anOai» (c)

124.

Which of the following statement/s is/are not correct as per the ‘Andhra Pradesh Reorganisation Bill -
2014’ ?

(;;\ Polavaram Irrigation Project to be a National Project.

(b) Hyderabad to be the common capital for Telangana and Andhra Pradesh states for a period of ten
years.

(c)  Governor to be common governor for both the states.
(d) Common High Court for both the states for a period of one year.

Choose the correct answer :

(1) (a) and (b)only (20  (b)and (c)only

(3) (c)and(d)only @ (d)only

‘Gol@HBE HNE SgBFELm S0 2014’ (Hebo & Bod (BHSSEVS’ DB/DD VBeaNHB/D s ?
(a) Dot FHVG HBLS ebad (FBGe SOKATE.

b) weolf, 8vomrs al ocolpedh PrEorerdy Syl CCREIM I8 Joddore I6H
aotnob.

() Doth Epe &8 K55S dotrd,
(d) =8 SoBEH sPw0 ey Both TFrelh D eyl E'R sotod.

SO0 araid JodE Savod
(1) (a) £Bcko (b) Sx@D @) (b)BBu (o) SrEd
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125. InJune 2018, the Union Cabinet approve
examine the issue of Sub-categorization
not correct in this regard :

(a)
(b)
©
(d)

GET IT ON
Google Play

The Commuission is headed by G. Rohini.
The date was extended upto 375t July, 2018.
The Commission was constituted under Article 340 of the Indian Constitution.

The Commission was supposed to give its report originally by 20t May, 2018.

Choose the correct answer :

1)

@® @@ @ @6 oty B (a) B)only @

P

d the final extension of tenure of the Commission constituted to
within OBCs in the central list. Identify from the following what is

28 2018, &° Sol8 HoBH0ED 4.8 $E-5eerfoEaS % Jowofod JTnen T SRS (Pog) s
SPoBBB DIBID SPENCHD ©HBoNCE, A8 KooGODHE SOMY JSPTPI0H 1HB0S0d :

(@)
(b)
©
()

% S48 2. 8% siksios® wu.
& S8 57000008 31 a8, 2018 S5 SBACTE.

g8 Tramgorio8®) wBES 340 805 & SRS Lg5BE0oSDED.
& S:AS &3 0V D 20, 20188 wSHed B0kd.

S0 aarad JodE TaHod

(1)

(@), (b). (c), (d) @ @0 @SDH @) () bEZEDd @) (d)SED

126.

Which of the following statements are correct about GST ?

(@)
(®)
(©)

GST is to be collected at point of Sale.
GST abolishes all direct taxes levied in Indiae
Implementation of GST was started on 1% July, 2017.

Choose the correct answer :

(1)

(a) and (b) only (2 (a)and (c)only
(b) and (c) only 4  (a) (b)and(c)

GST & S020509% 808 BS° $B3D 2D ?

(a)
(b)
©

GST edyfo 28R (HEdos® Smen B>
GST gru88406% o) (Sd5y S5 85 300,
GST 28 1, 2017 008 eS8 SQ)08.

JOEN 2areniH JodE Idhod :
(1) (a)SBako (b) S ) (a) B (c) S

'_(3,) .'?‘\-barn

4)  (a) (b)%oOci (c)
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127, Based on the Indian Air Force (IAF) order i t}‘:ﬁ?' 2016, the Supreme C;U"'D;Fo':‘;:’gt_he order on
banning the beard to Air Force personnel. Ider _O“m“-ltalemenh from the g :
(@) r'\rti::le 33 of Indian Constitution gives the 34t1OritY to Government of India to restrict Fundamenpy
Rights in respect of IAF. ‘ o '
(®)  These restrictions are nothing to do with ﬂ’—h%:‘mls sentiments.
(€©)  OnelAF personnel appealed to the Supreme -ourton the matter.
(d)  Supreme Court upheld the order of IAF banning the beard to IAF personnel.
Choose the correct answer :
), (@.0).().(@) (2( (b). (<), (d) only
(a), (b) only @)  (c)(d)only
8208 2016 & epss (@ T5ADFH0 S B)6* eros 3arns oS erbINY e:é adtrs;
BGodob. & adty B0 oS SIS 608" SITD degyod Kg&0%0 DOSTE. 628 SoooBods
BOES Typgos (DSBsew) JodE Seod :
(@) &P5S amyoKos’D 333 6QSS oot FO8 (HEhe8 30l 4o’ ST =0 Ddidkoet
SSEEDS oo (PEDS e DaPoS” SRS dmotien DGoIBSY
) & Dookiod HIHEES DexeRE Sowodo B,
© B9 DIaHD a8 groS IS8 B dgod S (S aasspe08 DoRES> SRE.
d) 69 Bors wyabdyso, grEd JIEIE &Y efsthen aQyd KEHD 2OSTET) 68D

Snood.

SO e JodE Babod

1) () b)) () @ (b).(c) (d) S

@) (@) b)ErED @ () (d)EED

128. Examine the following statements about 2018 Wimbledon (women'’s singles) tennis tournament :

(@) 2018 women's singles Wimbledon tennis tournament was won by Angelique Kerber.

()  She defeated 36 years old Serena Williams by 6-4, 6-3.

()  The 2018 winner, Kerber, a 30 year old German, was 11" seeded at the start of the tournament.

(d) Thisis her first Wimbledon title and third Grand Slam including Australian open and US open in
2016.

Choose the correct answer

(1)  (a),(b)and () only ()  (a)and(d)only
(), (c) and (d) only @  (b)(c)and (d)only

2018 Domes (e dohd)) BYS Sl 80b ISBHeD (sowro) 56800508 :

(@) 2018 H2rte HoNd) DomeS BYS &°G)otSsH JoadS BHF RerHHod.

b) 363058re V0T DOHRYD 64, 6-3 B8 3GE £.80000.

(© 2018 DomeS Hree DF, 30 SoSemyre =GS sand 3GF & GBS wbogos® 11 5 S
aolob.

@ =0 oDH IS JoweS BAS B 2016 & FHODI BPDAr £1F, 0.8, LS &
SenHE ol SrES ok PH ©HHod.

OGS araxd Job¥ Sabol :

1) (a), (b) B (c) SMSD @)  (a)S5baow (d) s

@) (a) (c)SDBaim (d) S @) (b), () H00Em (d) S

P‘T w_D
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129. Examine the following pairs - P
Author

(a)  SouravGanguly ) Book Title

(b)  Shashi Tharoor ) A Century 1s Not Enough v

() Sanjaya Baru ) AState of Freedom ~

(d) AmartyaSen n'ewmmmehﬁnister:'[he Making ......... v
The Idea of Justice

Choose the correct pairs/ answer -

#8 (@), (b)and (<) only

(3) (a).(c)and (d)only ) (b).(c)and (d) only

) (@), (b)and (d)only

808 el 36800308 -
Sdand .
23580 B (woffos’)
(a) B3 Ko 5 2o
NOS0 &f =45 D55
b) I2gE~6 3 3-58665@0
(€ Romcd 2% .

(d) =% D8 - & olat o5 =25

1) (a), (b) & (o) SHSD @ () (0SB (d) Zmad
B) () ()50 (d)Z=g @ (a),(b) b (d) SmsD

130. In the Swachh Survekshan 2018 rankings announced by the Ministry of Housing and Urban Affairs,

Government of India; in the category of over one lakh tio
il e o population, Greater Hyderabad, Warangal and

(1) 22,49 and 76, respectively 2 27,31and 73, respectively

(3) 38,47 and 85, respectively (9)  27,38and 77, respectively

e SO B HBFo HoBHK B, 708 (345507 ($5B0SoES S '
) ~ 1 X X%) SREE 2018 8ch
B8 rtoeee8, Mmg&eﬁmuogmmmwﬁoﬁém%ogoéz
SiPyom ? 7

(1) Sdre 22,49 S8dm 76 @ e 27,3100 73

B) S5 38, 47 S8k 85 @) SR 27,38 B8k 77

131.  Which instrument was produced by blending Indian Veena and Iranian Tambura ?

()  Guitar @ Violin #  Sitar @)  Mandolin
m&mm@n@smmémmmmm?
(1) A6 (2 5308 () ®~eb @) Seoc~0S
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Assertion (A): The British East India Company was established i England to have trade relations
with India.

Reason (R): The balance of trade with Englaﬂd HN al""")'ﬂ favourable to India.
Choose the correct answer :

(1)  Both (A)and (R) are true and (R) is the correct explanation of (a),

@  Both (A)and (R) are true but (R) is not the correct €xPlanation of (4

@ (A)is true but (R) is false.

(@)  (A)is false but (R) is true.

SODEE(A):  erosSost smeo §6% 300l 8D sty molase 5 Hosn RBOSEER
SEesn(R):  mopot 88 myEin HYEr U8 BERS ovgdam SSIND.
R[OS aarand Jod Babod :

(1) (A)S0Bcko (R) oo Desiso (R), (A) £ KO De3.

@) (A)Bc (R)Boto Desidn o (R), (A) © OFR e st

@) (A)dusw, = (R) Q)

4)  (A)&Q), =D (R) desi.

133.

———

Who among the famous industrialists served as Treasurer of Indian National Congress for many years ?
(1) GD.Birla () JamanlalBajj (¥ JRD.Tata @) W.Hirachand

808 (o FOENETgost B rd erBaH SRS o swo i §ehser
H2EB ?

134.

1) =28 dp Q afrScdverd () Bebl e @) ER% Sroesod
Arrange the following Chinese Buddhist travelers to India in their chronological order :

(a) Hieun Tsang () WangHieuen Tse

() Itsing (d) Fahien

& (Bob B TG GBSO S08cSr DS SPorHEH0T ety :

(@)  SoaseS Ao (b) PR RS D

© =80k (d) - FIPERS

Choose the correct answer /S0@ha aaranid QODE :
;X{ (@), (), (), (d) @ (@ b)) @ (d).(a), (b), () @  (®)(d).@)()

135.

Give the chronological sequence of the following dynaéﬁ&s of the Delhi Sultanate :

(@) Tughlugs () Slaves - (©  Khiljis
(d Lodis (€ Sayyeds -

Bo& Ko &5 Herde So¥ (S0 Beg)dn :

@ & b o8 Sodgen () e
d 68 Deroe (€ ddkigthen

Choose the correct answer /SB&0% aimrendy Job¥ Badod :
M  ©@b.ed @ ©o).de@e 6@ @ ©.(.(e) 4 ®).(c). () (e (d)

P-T
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136 e army that Subhas Chandra Boge established during the independence movement was :

Revoluti Peopl
evolutionary Peoples Arm)r ) Young India Army

| 4

(3)  Progressive Peoples Army @ In s Natioral Asiiy
gr58 Aol S8 JADOE® Kens; Sols 6% B0 gy :
(1) DSersd Hd) uby o ol wol oy
G ETASEsg ey (@) =08aHS 3536 6y
- o ————
137. Match the following :
()  Mahishmati
(b) Kosala / P () Girivraja
€ ek (i) Sravasti
() Yaisa (iv) Kausambi
808 A aSH5SI :
SoSfeNdmre Sopgiemes
(@) G () Seeryd
b e (i) AOSes
() @308 ' (i) (5D
d) 58 : (V) TR0
Choose the correct answer /350G aaroi® Jod Bavol :
(1) (a)-(i), (b)-(i), (c)-(), ()-v) @ (@), (b)-(), (c)-(iv), (d)-(iii)
13?/ (a)-(i), (b)-(iv), (c)(ii). (d)-() @ (@Hiv), (b)), (c)-(), (d)-(iii)
138. Which of the kings in Indian history and the works authored by them is correctly matched ?
(1)  Krishnadeva Raya - Samarangana Sutradhara
(2) Mahendra Verma _ . Mattavilasa Prahasana : I
/’3{ Bhojadeva - Manasollasa
(4) Someswara - Amuktamalyada
(8ot BendSmAS raren, o83 (PeD@AD ES50d® S0P eSBEIIASE 26 ?
(1) EEsoeaden . ool SeETs
(2 Sdros 4 . BodDeed (BERD
@) &= ds . BedREeEd
@ g . edngsreys
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139. Which one of the following codes was not presu.‘rib'-"'l by Ashoka in his rock edicts ?
(1)  Obedienceto parents, teachers and elders:
()  Abstention from killing of living beings.
el Accumulation of wealth.
(4)  Attachmentto morality.
o e 8 00 sosed’ Boiike ol GP00S Bk ?
(1) Sosolden, KotoHen Hdck Do D& FATalens
@) &S o Srbore oo
@) oS

@) 8% Do Sl Hotiko

e
140. “Honest, but a Bolshevik and for that reason very dangerous” - who said this about

Gandhi ?

(1)  Lord Willington Q{ Lord Irwin (3)  General Smuts (4) Berkinhead
wemondht, S0 SENE DY BEREEEDY 568" - rogdn oD & (80D BSE DB
Pg0W0 ?

1) egapofixs @ of 9058 (B) @s8S ) @ BONTE

141. Match the following dynasties with the names of the prominent kmgs belonging to those dynasties :

List-1 List-1I

(@) Prathiharas () Bhimal

(b) Palas (i) Krishnal

(9 Rashtrakutas (i) Mihira Bhoja

(d) Paramaras (iv) Siyakall

(e)  Solankis (v) Gopala

8ot Ko Trassomen ©ohE™ (HE trerol sdBsEn ;
SEB -1 S5 -11

@ @O 0 oI

®) o @ %l

(© or@srioe (i) Qo8 &

(d) rESrGen (v) RoRET

() Rfoolden v) o

Choose the correct answer /3805 amrand Jodg Babod :

(1) (@), (b)-(v), (c)-(ii), (d)-(iid), (e)-(iv) e)/ ()i}, ()(v), (©)-(i), (d)-(iv), (e)-(i)
@ (@), (b)-v) (©-v), (d)-G), (@)-Gi) (@)  (@)-) B)-(v) (V). ()i, (e)-(iii)
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142. Match the following :
List-1
(a) P:lsllavas (i) List-]!
(®)  Cholas 7@ :E:lril
()  Vijayanagar (i) Mahabalipuram
(d) Hoyasalas V) Tor
BoB B 2855w : e
SEH-1 655 11
(a) DpHw 0 on
b) e (W) By
©  DucHSKE (i) 00550
d FodHIeven () oo
Choose the correct answer /".65@;3 BaPeno doby Aakod :
G @-Gii), d)-(iv), (o)-6), (d)-Gi) SR
: g (2)  (a)(id), (b)-(iv), (c)-(ii), (d)-(3)
DL @) (@M, (oH) (O, (@)
143.

Identify the incorrect statement aboyt Bardoli Satyagraha of 1928 :
It was against the British Indigo planters.
(2) Itwasagainst the money lenders,

(3) Itwasinsupportof occupancy rights for farmers.

(4)  Itwasagainst the increase of land revenue by 22% by the Bombay Government.

19286° a1BAS 28%0 JeEnf#R8 Kowotiy B0 wa KHBoDHED ;

(1) ©& Do See DED akried SBSE.

(2 ©b SgargErdhes S5BSor abAS.

(3) - ©b SHeH SrendrEnw SoBoSTI8 wbh0d.

4) b droeron (H2HS50 22% &r8Ry RO DGoHS HBBLor EFINSE.

144.

Match the following :
List-1I List-II
Harsha Charitha

(a) Kalhana (i)

(b)  Banabhatta (i) Panchatantra
() Kautilya (i) Raja Tarangini
(d) Vishnu Sharma (iv)  Artha Sastra

(8od HY eSSBS :

Sb - 1 St - 11
(@ o A @) &g 308
b  eregly (i) oo
€ e (i) ore SEONS
@ df iv) ©geE

Choose the correct answer /$8@% axranilo JobE Sabod :
(1) (@)-(i), (b)-(i), (c)-(iv), (d)-(ii) @) @) d)-(iv), (c)-(ii), (d)-(iii)
(@)-~(ii), (b)-(i), (c)-(iv), (d)-(ii) @ (a)(ii), (b)-(id), ()-(i), (d)-(iv)
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145. Match the following:

List-1 List-1I _
(@) IbnBattutah (i) Fumh-us.-Salatm
(b)  AlBeruni (i) Kitab-i-Hind
(©) Isami (iii) Tughluq.Nam‘a%l
(d)  Amir Khusrau (iv) Tabatqt-i-Nasiri
(¢)  Minhaj Siraj ) Kitab-ul-Rahle
B0B 8D adSKE :

SB%HB -1 %R -11
(a) =S Dob (i) HS-oR -8
L) ©S B8 (i) B -n-2r08
(€ =>d (i) oS o
(d) ©W6 e (v) oe%-a-SN0

(©) S Bdoes v) BedS-ad-tip

Choose the correct answer /988 aaPRO® dod¥ Bahod :

1) (@), b)), (©)-), (@), @) @) (@)-(3), (D)iv), (©)-(v). (d)iid), (e)-i)
B (a)-(v), (b)-{ii). (c)-(i). (d)-(ii). ()-(iV) (@) (@), b)), (v, (d)-0), (@)

- 146. Examine the following pairs and find out the correct answer :
Al (a) Babul -

Thorn forests
() Neem - Evergreen forests
() Pine - Tropical forests ¥
(d) Teak - Deciduous forests v~
Choose the correct answer/ pairs :
(1) (a)and (b)only (2) (a)and(c)only

@)  (b)and (c)only (@ (a)and (d) only
208 mEoiod SOES HSrerarR) SMFSod :

(@) eved - Swof wEPHen

b & - DS SBEeSegD

© BN - agdotod elIw

d 8% - wforey) w8

B0 waraxd/asol JodE Jabod :

(1) (a) 500k (b) @D Q) (a) S8 (c) SMSD
(B)  (b)&Bcs (c) S @) (a) B0 (d) SrED

147. The states with the highest percentage of urban population in India, as per 2011 Census in descending
order:

(1)  Tamil Nadu, Maharashtra, Gujarat  (2) Tamil Nadu, Maharashtra, Punjab
(3( Maharashtra, Tamil Nadu, Gujarat  (4) Maharashtra, Tamil Nadu, Punjab

ESEH0S® 2011 esarer BE®L (SS80 BEHE S BT 80 Ko e, o3& (Eos® :

(1) SDFTD, Doy, Hecd Q) SDED, DR, Jowed
@) Do, SDETD, oesor§ @) ooy, SETD, Soerd
P-T 36-D
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148. Match the following, :
List-1 (Mangroove site)
(a) Karwar
(b)  Coringa
()  Pichavaram
(d)  Bhitarkanika

808 & adSESod ;
Do - 1 (508 w8He %260}

List- 11 (State)
(i)  Odisha
(i) Tamilnadu
(iiiy  Andhra Pradesh
(iv) Karnataka

5 weloe - 11 (U‘Qo}
g; s () ead
O iySco (i) S
(d) OeeB8 (i)  woy HBE
(iv) Koo

Choose thgconesf answer/pairs/;aa@; & fad0s JoE Jabod :
() OO LG () e 04 (@40
(D)), (©)-(i), (d)-(iv) @) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

149. The lake Vembanad is located in :

() Maldtiar cogat (2)  Coramandal coast

Konkan coast
4)  Utkal coast
JoersE S5y agSe - @ o
() Sowb 8o @ S0sS bro
(3) &08S dco @) oS bbo
150. Assertion (A): Delta formm o .
Reason (R) o Coas‘t) seen along the western coastal plains of India.

al plains are more broader than the eastern coastal plai
Choose the correct answer ; P,

(1)  Both (A)and (R) are individually true and (R) is the correct explanation of (A)
(2) __ Both (A)and (R) are individually true but (R) i i .
() tvie il () s o, Y true but (R) is not the correct explanation of (A).
4)  (A)isfalse but(R) is true,
BORES (A):  grESAE $8)% BY Drrrrest Ber D)Ko ©rHHOSD.,
=800 (R): ErOSRY D)% B8 Prrmren dxtybls BormroLos QNS DRYBDID.
JOFS a3re0i DoDE BoHod :
(1) (A)0ak» (R) Botr 2 S8 (R) 036 (A) 6 KOG Dstes
(2)  (A)0ads (R)Botir a.iy) 50 (R) 038 (A) & $OGS D58 s,
@) (A)eIb ey HH0dH (R) o036 83y,

(4 (A)e36 83 s (R) o030 2y

151. The states which occu py first and second places in sugarcane production in India :
(1)  Andhra Pradesh and Maharashtra
(2) - Uttar Pradesh and Maharashtra
(3)/ Maharashtra and Andhra Pradesh
(4)  Maharashtra and Uttar Pradesh

TESTEE" I 4HBS® (Ht5% BB BB Frredt gy oolapen :
(1) @o§SEE Hobatn Siskorig
(@) 685538 Sty HosForg
B)  SFoG S8k wosHEE
(1)  SForg S8k aguHds
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152.  Match the following : I(Ri
List- 11 (Rivers)

List-1 (Doab)
(a)  Bist () Ravi and Chenab
(®  Bari (i) Chenaband]helum
©  Chy (i) Beas and Ravi
(d) Rechana (iv) BeasandSutlej
800 O eESBSod :
Do -1 (38 wods Preso) 0o° - 11 ($toen)
@ 83 () o0 B IS
b)) b (ii) oS 98w feo
© o8 (i) HOTR Hba D
(d By (iv) DR SOk TS
Choose the correct answer/ pairs/ S8 aTrar/a80% JodE Jahod :
Q) (@), (o)), (-(iv), (d)-Gi) @ (@), B)-(), (-G, (D)
@ (@), ®)-G), (o)), (d)-(v) @) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(0)

153. Read the following statements:
(@  North India receives rainfall from westerly disturbances during winter season.
(b)  North-East monsoons gives rainfall to Tamilnadu.
(¢)  Indiamostly receives rainfall from North-East monsoons.
Which of the following statements is/ are correct ?
@ (a)and (b)only @  (b)and(c)only
@) (a)and(c)only ) () (b)and(c)
808 JSBROD SEB0b
(@) dersoos® S stoste S a8 ESBTRS SEdo BErS0B.
b) Sl anddSared SDETEL HEIEQ0D.

© erosBeds Sy andsHre g ©os S0 i0b.

HBS FOIS DSBeaed 2D ?

(1) (a)%oBaiw (b) SriEd @  (b)H00w (c) S

@) (a)SoBa(c) S gD @  (a), (b)S0a (o)
154. Zawar mine in Udayapur is famous for:

1) Gold @ Mica (;/ Coal @)  Zinc

A5G EER ub e DBB SNY !

(1) woormdo () gk @) & 4 S
P-T 38-D
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155. Match the following :
List -1 (Nuclear power g,

(a)  Kakrapar tion) List - I1 (State)

(b)  Rawatbhata (i) Ealj)asthan

Eil)) Nalr%)ara (i) Gujarat

808 8 adiBIol - (iv) Karnataka

0% - 1 (e 2858 Soso,)
(@ sEs6 ; ?;;"fv'@o)
R8P ! e
B & @) o8 uss
) ;shcn (i) rDae&
v)  Somp

(ihm the corret answer/ pairs/ o gy aaf:m/a;?m 085 Sabob -

3 e bhea e Q) (aHi) OHi), (Hiii), [d)-v)
— (A" P M) @) (@6, (b, (©-Gv), ()i
156. sertion (A): cksoilsare f : .

Reason (R): Black soils mveoggidﬁouﬁhﬁ:ﬂnﬂggg :ﬁ»;l'hc rock.

Choose the correct answer :

(1)  Both(A)and (R)are @d?v?duaﬂy true and (R) is the correct explanation of (A).
8; ?:)ﬂ:s(t‘:i :naic(l]g{)u; gg’:‘d“an}' true but ((lg)is not the correct}::xplanat:ion(:f)(A).
(4)  (A)is false but (R) is true.
(POFES (A): g oo 30050 So Sedia 2088 Ao,
s8mo (R): S0NE 45rSven 908 ko DeogESHe 50 K.
BOER a:ransd JodE Babod :
% () B8k (R) BoLr 2.5) 58 (R) e36 (A)% SOFd DB58e.
) (A)308a5o (R) Botir 2.3) =9 (R) &36 (A) 5 SB@S DSBes 0.
) (Ao ey B0 (R)eRb aiy "
@ (M) e36 83 =0 (R)&ds 2.3

157. Assertion (A): Pune, which is located near Mumbai receives less rainfall as compared to Mumbai

Reason (R): Pune is located in the leeward side of wester i
| n ghats
windward side of western ghat. : el 08 e
Choose the correct answer :

Both (A) and (R) are individually true and (R) is i
%/ Both {A; and ((2; are indjviduall; true but ((R}?is rtﬁf E\Zrzzcr;::t%:;ah?;%‘;;(g)ﬁ)
()  (A)istrueand (R) s false. ’
(4)  (A)isfalseand (R)is true.
BOXES (A):  Swozrav HHEm $%) 4B woeran SoB Sy SEDed) Fotbios.
s8s0 (R): JB Ho Ko I5S S0 3 éob. ®LPR Swoeron 58D Ehde
BS5S edSoyporre aobd. '
SO asaraty JoBE Bdhod :
(1) (A) 5805 (R)Botir . $0a (R) &30 (A) SOES D5tes.
(@) (A)H0as» (R)Bokr 2.5) 59 (R) 36 (A) % SO@S D560 oo,
@) (A) o3R8 a3 26a» (R) &30 3.
@  (A)esde 8y =2 (R)ed0 2

—
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158. Read the following statements:
(@) River Narmada flows ina rift valley.
()  Vindhya mountains are located to the south of river Narmada.
() RiverNarmadaisa west flowing river.
Which of the statements are correct ?
(1)  (a)and (b)only ﬁ’{ (2) and (c) only
(3) (b)and(c)only (2), (b) and (c)
808 Do SBS0b :
() St 56 DBgIO rhome BIFRD.
b SEor 508 &8more Doy DB ATHOW.
© Xoe 36 Hore BSerod 8.
66 JoFR Dstren 2D ?
1) (a)S0c5o (b) Se(Ead @  (a)SBak (c) SmSD
(B  (b)0c (O InED CIONCEEN
159. The states having highest literacy rate according to 2011 Census were :
(1), Tamil Nadu and Punjab (2) Kerala and Punjab
Kerala and Goa (4)  Keralaand Mizoram
2011 esegr BEP (Hsebo @é;&é @é@‘(&éé aR) w@m .
(1)  SDET Sk Hoeed (2) 8¢ Sobcsn Hoards
(3) B8Y S0 AP 4) S8¢ Sb» &foro
160. Match the following:
List-I List-1I
(a) Mountain Etna ()  Block mountain
Aravalli ii)  Young fold mountain
8 Himalayas /7 Eu:) old ffld mountain
(d) Vosges (iv)  Volcanic mountain
808 B 285858 i e
ardoe -1 adoe - 11
@) Qe Skdo (i) epE Stdo
b) oS (i) oS0 SwEd Styo
(@ Srdredire (i) Do LK Styo
@ &3 (v) of StEo
Choose the correct answer/ pairs/38@0s siaravib/adod JodS ol :
(M) (@), (b)), (c)-Civ), ()G @) - (a)-(id), (b)-(iv), (c)(iid), (d)-()
@) (@), ®)-(ii), (c)-{ii), (d)-iv) 44( (@)-{iv), (b)-(iii), ()-(ii), (d)-()
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’ 1. Examine the followi 3
161. mmlfﬁ ‘: 24:“;13 Slt:temems about the following articles of the Indian Constitution :
o .
(a) rtic ; — the d“‘_“'consl:ituljoﬂ states that the powers of both parliament and state legislature
are su lec e prOVlSlOns Ofthecomﬁtuaon-
If an accused is di
®) offence. there ielzzo:'. 3 d.“ectEd to give his voice sample during the course of investigation of an
: tolation of his right under Article 20(1).
Choose the correct answer
Both (a) and (b) ar
@ @) _ (b) are correct 4(2( Both (a) and (b) are incorrect
Gl Only(a)la correst (4)  Only (b)iscorrect
& oeersonostd 808
BTy OPEmen RoB0{odS wowed $6800508
(@ &r8S argorostd 245 ©BLSes
0 et
S0 Sqon, Loty HdA% o) B°KS Begfen oeamsorf Amogsed Sfeal
b) 6 s grsom B0 ek
T e a8 JobHR sB8T 20(1) ©HESH0 ($5°50 & BB¥0
58 i 820800056y sugy 53 R 6383 20(
JOES e J0dE Faho -
(1) (2)%Bcs (b)Botlr BB @  (a)SBc (b)Bote $O@ID
@) (a) SRS KOS @) (b)SrEsD $OFSE
162. Match the following :
List-1I List- I
(@ Narmada bachao andolan ()  Sunderlal Bahuguna
()  Chipko movement ()  Daripally Ramaiah
(c)  Biodiversity concept (i) Medha Patkar
(d) Vanajeevi (iv) Edward O Wilson

(v)  Michael Greenstone

808 B adSBSo8 -

@
()
©
@

05-1 : 03-1I .
SHoe oS solteS (i) Sosberd exsmordes

0% wo&tEs (i) $B5Y oty

45 D¢ grsiS (i) oo Jeens

554D (iv) G & DS

W) @me’f @5@:5

Choose the correct answer/ pairs /358G asarens/ase Jods SdHod :

(D) (@)(ii), (b)~(i), (c)-(iv), (d)(ii) @ @), b)), (Hv), (d)-(v)
(@), (b)-(i), (c)-(iv), (d)-(i) @) (a)(), (b)-(iv), (c)-(v), (d)-(i)
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163. Lxamine the following statements about prof. N.-N: Wig who expired on 12'" July 2018
(@)  Prof. Narendra Wig was amongst the forem©StPsychiatrists of India,
®)  In1991, the Royal College of Psychiatrists: London honoured him with the highest award of the
Honorary Fellowship of the College.
()  Heis the second Psychiatrist from India to be honoured with that award.
(d)  Hewas the chairman of the World Health OTganisation (WHO) Advisory Panel on Mental Health.
()  He was born in the West Punjab district of Gurjanwala,
Choose the correct answer :
(1)  (a),(b),(c)and (e) only 2  (a),(d)and (e) only
B3¥  (a)(b)and (e) only 4  (b).(c)and (d) only
&8 12, 2018 oo Sgids wardy NN. OF 1800 808 D¥mes (worre) $68D0S08 |
(a)  er58BEo Gk BngBnrs ErIRS Ri0s” ey S80S OF o8 BTITA HE
) 19916 ‘ToHS SBE 65 2B, DOES T8 FSEE AT 6 & DL’ wfgHS 2236.326055
2 TEJoNOB.
© & Hdsost mEDosng grobag, S8 BodS DearAy,
(d)  (B%oS b Hog ‘ErORE o850 SO HoLDS w8 FYST sobrld.
(@ 85 580 Horss’d HteTe® Berd® aomid.
$O@os asareniy JodE IHod :
(1) (@) (b), (c) S0 (¢ SHED @) () ()00 (¢) S
(3)  (a) (b) B (€) SHSD ) (b).(c) B0k (d) Erlesed
164. As per ‘Socio Economic Outlook - 2018’ and 2011 Census, the following districts have lower sex ratios in
Telangana. Arrange them in the descending order as per sex ratio :
(a) Hyderabad (b) Wanaparthy ()  Jogulamba Gadwal
(d) Rangareddy ()  Medchal ()  Sangareddy
Choose the correct order/answer :
(1) () (e)(d), (b) () and (f) @  (e)(@)(d) () (b)and (c)
S @@.@.6)0and B ©.0,06 @ndd
DBGEP DESNE TSenk - 2018 £Bck 2011 esirgr B [BSPo Bvorres &9 80b Berod® Dol (Bon¥)
0:5)8 ST G0B. & Bepuid BonE AYB HEevo BIE T EsSo08® @80l :
@ oeb b) $556 © &roeron Koxd
(d) orrol (e) 33&,‘)6 () Sorrdg
$OGo [HS0% / erenid JobE Schod :
(1) (a)(e) (d), (b), (c) 2B (f) @ (e (@) (d) (@) (b)0 ()
@) (d)(a) (e). (b) (f) B (c) @ () (), (b) (e) (@) 20a (d)
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Examine the following stateme

(@) Article 51 deals with the F““dﬂmenta] Duties. %~
uhes.

Fundamental Duties were ; .
(b) : €T Incorporated in the Constitution through 42"d Amendment Act 1976
()  Fundamental Duties cannot be enforced by ‘writs'.

(d)  Fundamental Duties cannot pe Promo

nts regarding the Fundamental Duties :

ted by Constitutional methods.
Choose the correct answer :

(1)  (a)and (b)only @ (b)and(c) only

O ()and(conly @ (@) ®)and(

(S WE Do Sowofod) 8o VOO $64D0S0A

(@) ©BSS 51 (@FWE e 8eHson.

(b) 1976 Sony 4235 Toess0K S O (D5 0E Doy SPoHSET.
(€ 08 oo IDPEDE Do ooey Fawdo,

(d oeemgon ::ge’aaoé‘ EEDE Devess, F&oBer ScdHdo.

HOGHE a3eend JodY SaDol

1) (2) 005 (b) SrEd @ (b)Bc () Srigd
B)  (a) 0 (c) S @ () (b)0 (o)

166.

P-T

Regarding the state bills reserved for President’s consideration, examine the following statements :
(@) President may declare his assent to the bill.

(b)  President may return the bill to the state legislature for its consideration.

(c)  Statelegislature shall reconsider it accordingly within a period of six months.

(d)  Ifthe legislature again passed it with or without amendment, President shall approve it.
Choose the correct answer :

(1)  (a).(b)and(c) only (@ (a) (b)and (d) only
(b). (c) and (d) only 4)  (a)and (c)only
oYER8 Fobs Dey TFIS wIroRS SobR, TFHB ©HSTIE Kowohon 808 DLbne S6800508 |
@ PS8 & Den SodEo FehS).
b) TFEDS 3¢S HI:0080N FEH ToPHd 8 SodSWy).
©  TFE8 SrsS erdmone T BS54 6300 6% H3:30800m0.
@ S55008° Mo dor s5tne BHom D BoESIO O K8 B¢ eIra, T S5)OKem

Jo880 Ba5rd.
SO aarmd JodE IaHod :
M (@), (b) DB (c) SmieseD @  (a) (b)D0am (d) SrE
G)  (b), (c) S0a (d) ErigD @) ()0 (c) SmSD
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e the following statements :

sroduced in either house of the Parliament'
e houses.

167. Parliament enacts laws. In this regard, exam n

(@)  Allbills including finance bills can be int! . vk : v
®)  Allmembers ol Ilt‘\' parliament have the right to introduce bills in their respecti

- e -od either by a minister or by a private member.
%:1)) {:al:lﬂitl‘ll‘I‘:.\.-l.-“h:'l:‘tl:nl:ll.:ll:lti:ail'it'ltlll‘inr 111' official gazette before its introduction,
introduce the bill is necessary.
Noose o i ) N
(Lll)“ ‘“};;:‘Jf;ff (tc;':;:f; : @  (b),(c)and (d)only
@ (a), (b)and (d) only @ (@) (c)and(d)only
FEDoeS Soen Tob. £28 dowohod 8ob @O'B:’@"ﬁ’ :‘,35’&00_‘550& :
() Qs Depd® 535 Q) Dego, agdh $58° D 3e56° eavw BIE DRI
0) BBt seguoseh 6 0 $§o8 DROD BIEDE oo aotnod.
O Doy Ho@ 0, RS waxe S0 E3E DRIH B
)  (ESE2YE08 0l ©fe0s KBSE® HH00DS Deg $E6° (HIFDLTRE Derufi sl SNt

no motion for leave to

&,

SOES aTrandy JodY Tadod |

(1), (a), (b) 2B (c) SRS @ (), () S0 (d) SHHED
(a), (b) Bt (d) SRS @) (a) () %0 (d) SeED

168. Examine the following statements: J oAbk ‘
(@)  The Indian Government approves corpus of 5,000 crore for setting up of ‘Micro Irrigation Fund

, (MIF) with NABARD under Pradhan Mantri Krishi Sinchayee Yojana (PMKSY).
| )  TheMicrolrrigation Fund’ would substitute Per Drop More Crop’ (PDMC) component of PMKSY.

Choose the correct answer ;

(1)  Both (a) and (b) are correct. (2)  Both(a)and (b)are incorrect.

(3)  Only (a)iscorrect. (4)  Only (b) is correct.

800 wosod H08Do00d _

(@)  O5ed 20 8% bowron @red’ (PMKSY) Sod e (NABARD) & ‘TE°* 287aS $ob' (=g
D8 e BY) doven S0 erdd (¢S50 T 5,000 &% 5°5)5% erBODoR.

(b) (HEeS o8 (B domeow Eresst gD (8 18 HHH S Hov' (BB &S 306 (5°0) B
eeorr ‘S DB Fdoo VYR @’Jﬁa"ae.gtﬁs.

SO eareiy JodE ol :

(1) (a)00dk» (b)Bokre NOTHHD. 2) (a)S0ckw (b)Bo&r SETHRD S°Y.

9;/ (a) EPSD SOFIO. @) (b) SmSD SBFRB.

169. Which of the following responsibilities are under the preview of the Finance Commission ?
(@)  Sharing of net proceeds of taxes between the centre and states.

(b) Recommending the principles for governing the grant-in-aid to the states by the centre.
() Recommendation on the matters referréd to it by the President for the interest of sound finance.

Choose the correct answer

(1) (a)only 2) (b)only (2/ (b) and (c) only @  (a).(byand(c)
800 BS* D antgBen ¥RY Moo I6HS*8 SJw?

() Sy V88 emrairg) Boo HBaiy TeRe D& Sosso.

b Bogo e wohod ¥aire Howododd DahETOs VPEH Ichio.

(© OVER0 MrSSol ehrbnom ol P ErrodosEel8 ©SHEDS DYETen Jabo.
A0S erandd Jobs Sabol :

(1) () @ O)EED @) ODOEOINED (@) (a), (b)H0aw ()

E—
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170. Examine the following statemens about the NITI Aayog of India :
(a) It was established to Provide
of Indian economy,~

® It I'xelps to evolve, promote and strengthen cooperative federalism"/
(c)  Itformulates five year plans for India. v/
(d) Itwillcreatea knowledge, INnova .

& critical, directional and strategical inputs to the development process

tion and entrepreneurial support through collaborations.
Choose the correct answer : Hrep PP &

@ (@), (b)and (c) only
@)  (b) (c)and (d)only
gr588308° FBoSAS 8 (NITI) wapk &

(20  (a),(b)and(d)only

(4)  (a)and(c)only

$00080DS 808 wosre $88D0S0A

O ST OOUS TS 5908 s el ©85% woBoSTm08 5D wd S Dot

®)  OEa%S e Raorgg 5935@517 PS)2roserOs, polIBSEI8, Erirobostds ab 8%K)khiod.
© &rEBATR8 DOSSY (HemDSerss EreloB3208.

(@) efocre oy Soepard, Sssesomn, BSTBE Sot5ehoiso e B0 $O)08.
SOSE esarenid JodE ol

(1) (a), (b) BB (c) S @ (a), (b) S0 (d) S

(3) (b, (c) 0B (d) Soo(es3d @) (a) S0 (c) S

171.  Examine the following statements about the ‘Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Amendment Act, 2015" ;

(a)  The Actcame into effect from October 2, 2015.
(b)  Special courts are to be established for speedy trial of the cases related to offenses against members

of the SCs and STs.

() Preventing tribal people from using religious, health and educational institutes is also made
punishable by law.

Choose the correct answer :

(1) (a),(b)and(c) 2) (a)and(b)only

(3)  (b)and (c) only 4 (a)and(c)only

Qg Heren, S Ko (SR Dardin) $586 3K’ 2015 9808 808 wosre 58800508 ¢
(a) @&b 2,2015%08 & S0 DS S0B.
(b) SC&HBas» ST a’:gb’sué ég&'ﬁéom 267 Soee Honofodd e SKSodore Dorden asSoos

e (H858 8o doven Jaird.

(©  ABesS (Hesen SEBER, wEHHERS B ITFSEHN Hogerh aBArACDE DT Jrbosto
Erge SQSsE0 Bgrdo.

SOEN aTrend oY Jabhod : .

(1) (a), (b) S8t (c) @  (a)S0Bow (b) ErigD

(3)  (b) 00w () S SH @)  (a)o0asw (c) S
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172. Examine the following statements:
(@) Integrated Goods and Services Tax (1GsT) woaki bt levied by the central government and collected
by the state governments on inter-state supply of goods and services,
()  GST council was created as per the Article 279A of the amended Constitution of India.
(©) Telangana was the first state that passed the GST Billin India,
Choose the correct answer :
(1) (a)and (b)only @2  (b)and(c)only
@) (a)and (c)only @  (a),(b)and ()
808 wowred $8400S0d :
() shogys Stghise S (IGST) H SyDie oSG S0 D00, & Sigih So BEo
67, T [Hgosmgee Sreo B
b) rEsEEH $5B0SpaS Targolios® 279A 8HEERO BS°To GSTERS (506D) Grarobosnlod.
© go5B%06® GST deyd wardods 88 Tigo Svorrs.
BOIS aTe Jobs Savod :
(1) (a) S0 (b) Se|SD (2)  (b) DB (c) SvSad
B) () SO () ErFED @) (@) (bS50 (c)
173. Examine the following statements about constitutional interpretation of environment by Supreme Court of

India :
(8)  The principle of ‘absolute liability’ was laid down in Oleum Leakage case.

()  The concept of sustainable development was introduced in Rural Litigation and Entitlement Kendra,
Dehradun Vs State of Uttar Pradesh case.

() ‘Polluter pays principle’ was adopted in Indian Council for Enviro Legal Action Vs Union of India
case.

(d)  Exhibition of slides free of cost on environment in Cinema theatre was ordered in ‘M.C. Mehta Vs
Union of India” 1991 case.

Choose the correct answer :

(1) (@) (b)and(c)only (2)  (b)and(d)only

3 (a)and(c)only @ () (b) (c)and(d)

68 oo 8% S0 ool grhie 3RS S0b Jdbwe 56400508,

@) VEDE erS Sndo LD O34 Tagod® Bplod.

(b) RER ePHR’ DS Er5S DERGS @0l JoBBSED0 Bolts, BEFERS Vs RS 6f 688 38
Faos® (SBTDYREB.

© ‘Sroolgsetitd goomd Sn@oih sobdbS TS 36 G DS IS Vs ardaDS e molase
Feyg08® eTrbobRld.

d) SoIDS BBGS o SoSsR0R eDBorr oS BEoTed ID0.0. HIE Vs SoPASHS

65 20865 1991 rees’ eS8y asywiod.
50&o waredd JobE Dandv ;

(1) (a),(b) O () SmSD 2  (b) Bk (d) Erad
@) (a) S0 () ERSD ' @)  (a), (b),(c) B (d)
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174. Examine the following statements about the

"Furopean Bank for

(a) The hank'waﬂ setup in 199 after the fall of the Berlin Wall
(b)  The bank’s headquarter i located in Berlin.

(©)  India became the 69" sharep o) 4,
(d)  The bank aims at Promoting public i

Choose the correct answer :
(1) (), (b)and (c)only
(3)  (b)and (d)only

‘DIG oo HBae ©VNE 850 qimes

5080035084

r of the bank.
nfrastructural initiatives in emerging Furope

(2) (a) (b)and (d)only
(4) (a)and (c)only

@)  BYS A () 3850 S & emor; 1997 6 domn Baselob.
() emgod @eS STUFRADO BETES a0p,
(©  ergoH Gk 69D T grssEo 3808,

(d) erg% eFo JEMHER) AhmetIeess

HOEN esarand JoDE BaHod :
(D) (a), (b) B (c) SoredD
(3)  (b)Bai (d) Sr@SD

175. Match the following states with their res

State
(a) Kerala (@
(b) Assam (i)
(€ Maharashtra (i)
(d) Rajasthan (iv)

)

Ber 0K Sthdrdire u)$ Réenyrosto.

@ (a),(b) 2B (d) SoriD
@) (a) Bk (c) S

GET IT ON
Google Play
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Reconstruction and Development’ (EBRD):

DADS 5o’ (EBRD) rHB0D 808 IS6mess (soeduis)

MMR
237
199
66

61

46

2014-16 SP00é® 808 TP B (B8 SHbre et (MMR) 23855508 :
(B5r8 S¥ere Tio

lge
(a) B¢ (i)
b) oo (i)
(© dpoog (i)
d oaS (iv)

(v)

237
199
66

61
46

Choose the correct answer/ pairs /30&S arard/asod JodE Sabol

@ @-(v), (b)-(i), (c)-(iti), (d)-(i)
@) (@), (b)-(i), (c)-(i), (d)-(ii)

(@)-(v), (b)-(3), (c)-(iv), (d)-(i)
@) (@)-(id), (b)-(id), (c)-(iv), (d)-(i)

pective Maternal Mortality Rates (MMR) during 2014-16 :

176. Onwhich of the following dates did Pandit Jawaharlal Nehru laid the foundation stone for the construction

of the great Nagarjuna Sagar Project ?
(1) 1 August1955
(3)  1October1956

(2) 11 December 1955
(4) 1November 1956

2536 o8 o s eKE (1B AoYENSD FoDHPSS IVY 38 6 ?

(M) 11955
@) 1861956

@ 11 8&%006 1955
(4 155008 1956

47 -D
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177.  Which one of the following statements is not correct !

(1)  Dr.BR Ambedkar favoured smaller states.

(2)  Masuma Begum was the first Vice-Chairman of the ”rt'fangam Regional Committee'.

(3)  Telangana Mahasabha was formed in 1957- '

) KR Amoswas the founder President of the ‘Telangana Non-gazetted Officer’s union’.

B0 (HSared® $0s°0 26 7

(1) o B.66. 0ol O%) TEEe e EgEa% VBT,

@)  Swiswdn Bro Boorre @0 S& 58 35-YS.

(3) 1957 & ‘Bovorre P, TS AT a;::oa"tfo.

@) ‘Boorrn wEREEE edidf) rADT HPPIE ©risH 8,66, 6Irs.

e

178. Dr. Burgula Rama Krishna Rao wrote a lengthy letter making his stand on separate Telangana to the
Congress President. Who among the following was then the President of Congress ?
(1) D.K Baruvah (2) H.N.Bahuguna
@  JB.Kripalani (4)  UN.Debhar _
o et DRg)E O ($E5E Booree bpis 85 e Forel Buydr s BG5S o8 W0Y S
(. o) Po[RF @Cﬁségd.: Q58 7
(1) &3 2% (2 oI a5
3 =24 E0er (4) .. Sob

179. After Dr. Marri Chenna Reddy was arrested under the Preventive Detention Act in
July 1969 who among the following women, led the T.P.S. agitation :
(1)  DurgaBhaktavatsalam Sadalakshmi
3)  Roda Mistry (4)  Sangam Lakshmi Bai
oo S 37 BE S0t MYoFH (3.8.) $0 65 1969 278 Fos® eOHowS SoE Boorrs B
BB (808 aEr) FOFA0DD Sodrge TPaHEHTED D ?

(1) oo gESEo 2) Sorof)
@) & R @ WHoKo ofjran
180. Match the following :
Programme Organisation
(a) ‘Telangana Poruyatra’ @i BP
(b) ‘Telangana Prajayatra’ @ CPI
() 'Telangana Vidyarthi Ranaberi’ (i) ABVP
(d) ‘Telangana Yuddaberi’ (iv) Telangana Sangarshana Samithi
285
S S0
(a) ‘Boorrs AT i 8
(b) ‘Boorres Herde’ (i) .6
© ‘Boorrs JoP BnEd (i) .09
) ‘Booree angEHY (v) Boorrn BoFngep S8
The correct match is/P0G0N &
1) (@) (b)-(i), (c)-(iv), (d)-{iii) @ @), (b)) (c)-(ii), (d)-(iv)
@) (@)(i). (b)-(D), (©)-(i), (d)-(iv) @ (a)-(iv), (b)), (c)~(ii). (d)-()
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181. The 1969 agitation for Separate statehood began on the issue of employment at :
( Kothagudem Thermal Power Plant
)  Singareni Coal Mines
(3) Nizam’'sSugar Factory
(#)  Andhra Pradesh State Roaq Transport Corporation
1969 60 @855 °°F 6655500 (80 3 503 4in AEY Do $50%58° (BB ?
Q
1) FETo 545 eiyS s
2) Dorde &% Hioen
() Rero IKK Soprssy
(4) SoBEDES g 5% Saeeg 1505
®
___--__-'_'_"_——________

P

182.  Arrange the following in chronological order -
(@)  ‘Telangana Praja Front' was formed by Gaddar. v
() Telangana Dhoom Dham’ was held at Kamareddy for the first time.v”
(9  Communist party of India Organised “Telangana Poru Yatra’ from Jodeghat to Hyderabad.
(d)  Bharatiya Janata Party organised “Pory Telangana’ from Hyderabad to Bhadrachalam.

Bob 8 SHIEDS® gy -

(@) "Boorrs @30S S HEE Soren Favh,

(b) Boorrm G0 PO’ IoLInSBIE S04 6° kRO,

©  &e58aD S5g0] 8 SEnS 0l IS 556 Beorm B SIS’ BSepo.

) ZrEAch ader 3§ Ieoeerd Dol HeSo0 65 T Boorrn” sYEIRY NEIROTE.
Choose the correct answer /30@S amran JobE SeHol -

@® ()@ () (d) 2 (®)).d).( ,(35/ @). (b), (o), (d) @ ©.(d). (). @)

183. Match the following :

List- I List-1I
(@) Ampasayya Naveen () Pantulamma
(b)  Sangishetti Srinivas (i) Veguchukkalu
(©  Devulapalli Ramanuja Rao (i) Kalarekhalu
(d Madireddy Sulochana (iv) Shabnavis
(508 8 asHtHs :
adar-] s -1
@ ®osIang $HS () Soedy
)  Son3d #d=>S (i) SoSHen
© TS vsmde oo (i) SeBpen
(d) Sr68E 6tss (iv) 3[R
The correct match is/S0GHN &8 :
(1), (a)iii), (b)(iv), (€)(ii), (d)-(i) @ @Hv), (b)), ()(ii), (d)~(i)
91/ (@), (b)-(i), (i), (d)H(iv) @ (@A), (bHiv), (c)-(i), (d)ii)

P-T 49-D



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

~

Addal2417
__l:_
184. K Achuta Reddy was elected as first Chairman for the Telangana Regional Council by defeating
(4{ B.V. Gurumurthy (2) MirMohammad Ali Khan
()  RaviNarayan Reddy (4) BaddamElla Reddy
2559 £.800 3. ey B8 Boorms @obab $2EE STRD sanrs 7
N 9.9, Kososrd @ D5 D08 ob 5
@) T o 88 4) ®o e od
——
185. Which one of the following Commissions was appointed in 2002 by the State Government to study on the
implementation of G.O. No. 6107
.('Y{ Jaya Bharatha Reddy Comumission (2 M. Girglani Commission
(3) KR.AmosCommission (4)  Purushottama Rao Commission
2002 Sons® TR (PehEo 8.e.. o 610 % ©Hey HEIS BB 3080033 GBS ZRS X
(1) eobyesS B8 S8 (@ &0 NG K4S
() S.ob o3=8 3RS @) DOVED vH SRS
I
186. Who among the Telangana leaders was the first to suggest Vishalandhra ?
(1)  Gulam Rasool Khan (',’)/ J.V. Narasinga Rao
(3) Devulapalle Ramanuja Rao (4) KV.RangaReddy
Boorrs TEHHes® A5 TngENGe “DEToER” Jedodd ?
1) e 55eS R 2) 83 oA Y
@) BIodY wErdes Y @) 3.2 Borrdd
187. The two political parties which did not support the agitation for separate statehood in Telangana were:
(1) BJPandSP. (Z)he CPI (M) and BJP
@) CPI(M)and MIM (4 CPI(M)and BSP
8ob D Tresbah FFen (HEE Boorrm GRS DR (BEB0SBD ?
1) .85 50a5» N, @ D.do.(cHo) Hoa D.ED.
@) 2.0..(cHo) HBcin Jo.8.20. @)  D.D.®.(cho) Do D.AVD.
188.  The Linguistic Provinces Commission set up by the Government of India in June 1948 was headed by :
(1) SK Patil 4%  SK Dhar () Pataskar () PN Haksar
1948 5~5 &* 15 (HEHS0 38 AHWOSHAS gra HAWE TERL ST D I ?
1) N3 >85 ) N2 5 @) S @) DT 8
P-T 50-D
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189. Assertion (A): ln_ 2001 local body elections, the T.R.S. made an impressive show by getting 18 percent
ol votes in the Telangana region.
Reason (R): Because of the growing official neglect towards Telangana region in United

Andhra Pradesh State K. Chandrashekar Rao Left ‘Telugu Desam Party’ and formed

Telangana Rastra Samithi’.
The correct answer is :

Both (A) and (R) are trye
(2)  Both(A)and (R) are trye
() (A)istrue but(R) s false
(4)  (A)isfalse but (R) is trye
(POFSS (A):

and (R) is the correct explanation for (A)
and (R) is not the correct explanation for (A)

BOFS DI :
(1) (A) B0 (R)Botlr dassio, (R), (A) % SBRE DStes.

(2 (A) B (R) Dot desiky, (R), (A) % ROTHR DSBes SV,
3) (A)Q:xdw == (R) é:@n.
@)  (A)$Y = (R) Jesison.

2001 & espips P Soge LuE® B.66.8. 18 evdo Liy Sodaod wep3 808,

S0 (R): O wosds CFns’ Soorrn oy B IVEH ©6S 25g s w0l
$580%ore 3, SoEdpboeg Beurd B 80 S6D Boorre oo HWH 2DoID.

190. The poll survey conducted in 2011 by the Centre for the Study of Developing Societies (CSDS) was headed

by:
(1)  Rajdeep Sardesai (2)  Yogendra Yadav
(3)  Pranay Roy 4)  ArnabGoswami

2011 Son&® 06 35 & ©f BSuboR FAS ®.95.8.05.) 3 N0y VERroDS (HerPradh Ve

D50 estiBsos® A0S ?
(1) =B85 SBerow (2  Erhols S
B) (e oo @) oS A3

191. Identify the Wrong pair :
(1)  Palle Kanneru Pedutundi - Gorati Venkanna
(2)  JayaJaya he Telangana Andesri
(3)  Urumandira - Chada Anjaiah

4 AmmaTelanganama -  Gaddar
S0 s 18oSod :

1) 38 &Y 2HdH0d = FB8 308Xy
()  =0deaddirdoors - 2 wodd

() &BHJSBO - oo womaly
4)  odyBeorrnse . 1
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192 According to Gentlemen's Agreement two out of the following portfolios were to be assigned to ministers
from Telangana. They were:
(1)  Home, Finance, Revenue, Education, Commerce and Industries
() . Home, Revenue, Industry, Education and Planmung
(E{ Home, Finance, Revenue, Planning and Developmentand Commerce and Industry
(4)  Finance, Electricity, Industry, Education and Rural Development
D b0 EEEED & Bob spud’ 00500 Boormn 08 Serasomd. €3
M) o, sgy, 03y A ey SOy HOFEDn
@) e, B3k, S0Een, D HBaw PN
(3) e, ugé. SRR RoR DBk oS3 SoBK Tdeasin b SO
C)) Bgé. 36}8@5, S0\ FSen, D 2008d5n Br8S CH0DotS

e

193. Which one of the following statements is not related to the all party meeting organised by Kasu Brahmananda
Reddy, the Chief Minister of Andhra Pradesh?

(1) Al party meeting was held at Ananda Nilayam on 18th and 19th January 1969.

(2) Toimplementall party meeting decisions the G.O.No. 39 was issued by the Government of Andhra
Pradesh.

(3) 1J.Naiduand R. Vittal Rao were appointed to implement the decisions of all party meeting.

(4) TheState Government appointed Kumar Lalith Committee to estimate surplus reserves of Telangana
on 23" January 1969.

& B0B (H5S5Ines’ DB sol@Bas uagod D EIRToses ok 305 oo SE HIRBIENID
$000809 96 ®anod S ?

(1) @350 18580 19,1969 6° efo 5§ $ErRdo vl Joahos® udACL.
2) oo SE AohoH eHedcne SoFHBS [HeHsesn 8,55 Jo. 399 Jde 3hob.
@) .8 T DHOc ¢b. DS s eho HF DY AdireH e 5588 DaHoSHED.

(@) 8eorrs DHw Hod ©oST koo ooy [SehSsn 23, aSS0, 1969 56 008 S8
DaHpodod.

194. The political domination of Andhra ruling class over Telangana resulted in :
(1)  Both the regions enjoyed the fruits of development
(2) Establishment of separate Economic development zones
(3) . Increased agricultural income
jﬂ( Made the people of Telangana as passive recipients

Boorrn® o o SBJ oeesfcd Q¥ HdSore :
(1) Bolr @rotre sz)é')g Seren SobTeon

() (S8 wdsPH)R Sokeren AT?)E0DTPOD

(B) HgEIrado Hol sorabo HBACH

@) Boorrs (Huen SSeo (DES Sore ADIVANO
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195. The "Telangana Intelloctya) It

orum’ plnycd an important role in the separate statehood
movement. Which one of the fnlluwing was its important activity ?

(1) Itconducted a Peasantsg March to the District Headquarters
(2)  Itproposed “Chalo Assem bly”

It published a ‘Statement of Agenda’ for the people of Telangana
(4)  Itorganised a struggle

against Electricity Board
Boomn Hore So8 858 Beorme 6ls%06° @BFS g Dhoos. Bob B D6 « ROy Bl
©6S S yESHD ?
(1) ©8 Bex Bo08 3, (s
2 “36° ol SN0 espe
(3) Bwores (Beed e ¢

33@0&.

ob.

Yo €9 oEor" % [HiHdosEo.

(@) d0Edd &85 358880 Forro St
__—-‘_‘_-—_'_'-‘-——-__,__

196. Identify the wrong pair :
(1)  Telangana Martyrs day

17 May, 1969
(2)  Telangana Protest day = 2]June, 1969
(Y Telangana Betrayal day 20 April, 1969
4)  Telangana Women's day 17 June, 1969
[0 w8 HoSos
(1) Beorrn essde B0 17 3, 1969
(2) Boorrm JBIS BRo - 273, 1969
@) Beorres HoSS BSo - 20 DS, 1969
(4) Boorre Hrer B350 - 17 2§, 1969

197. Assertion (A): The fruits of new marketecon
the Andhra ruling class,

Reason (R): The pitfalls of development were borne by the people of Telangana.
The correct answer is :

Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both(A)and (R) are true and (R) is not the correct explanation of (A)

()  (A)istruebut (R) is false

(4)  (A)isfalse but (R)is true

(P8ISS (A): 1990 H008 (@D Ir8S SrT)S QS 5% TnE) Pere Se woltsSoostD FossLo
rEHE00.

80 (R): SLA D8 Ko Seodyd) Boorrn (Heen Boosses 3908,

JOGDS DGk :

(1) (A)SBdtio (R) Bor Qesiiv, (R), (A) & RBIE DdBea.

(2)  (A)S00dsw (R) Bor Dessk, (R), (A) % 38aDHS DS5Bea s,

) (A) Do o0 (R) 5y,

@) (A)8G) s° (R) Desiso.

omy unleashed from the 1990s were enjoyed mostly by
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198.  Arrange the following important Agitations in chronological order under the leadership of students of

Osmania and Kakatiya Universities.

(@)  ‘Telangana Vidyarthi Garjana’
(b)  “Chalo Assembly’

()  ‘Telangana Vidyarthi Mahagarjana .

(d)  “Vidyarthula Polikeka’ by Kakatiya University Students 2 gt

(@)  ‘Boorrwm Do Foge’

(b) ‘$6° wod)

(€ ‘Beorrg :Javég Sospriges’

@)  s8Bobh crBeyS doGed AgErosel Drgie SO

Chpose the correct answer /RS0G5 e Do Babol :

(J?m @bmod 0 Oa@@e 6 Obad @ ©d )@

199. Which one of the following statements made in A.P. Legislative Assembly in June 1961 is not correct?
(1)  “If the Government takes immediate steps to provide basic necessities to the people of Telangana,
then there is every possibility of emotional integration of both the re gions at the earliest”
- P.V. Narsihma Rao.
(2)  “The Securities and Revenue surplus of Telangana has been spent on Andhra region. If only that
amount and another four to five crores were spent on Telangana, it would have developed well”

- P.Sundarayya. ‘
(6{ “Itis five years since Vishalandhra was formed. But there has been no emotional integration. The

policies of N. Sanjeeva Reddy were responsible for it - Ravi Narayan Reddy.

(4)  ”No one wanted to rob Telangana money. We are just thinking as to how to solve the problem”.
- Chief Minister N. Sanjeev Reddy.

25 196168 AP, 20535 $e56° B2 & 1808 BSSTes® 38z 28 ?

1)  “Boorrm (BuoH SHOR Sogy o3Tes BYTAS Hehsio Jod s Stien 8D, wod
ot Boorrs, 8ol S (Frossne Dy, DAPEHE nobHAT, erdEEEDN 2Lk
oS08 edsedo dotnod”. - H.d. SBROPTRY.

(2 “Bvorrnd a3 2&nsBdT, BIKm Dibeod wo(Erodsns® piYBLEo =0R0d. & Beoren
&y $0cs» Treiith 8y st piDEHOB Buorre erK ©PH)B Bob SoBl”. - B. oBvaky

() “Qererold G 5Bod e wHHHB. S0 ARPRIS 20BRRS aHKSs. 68 JodSOArD
500Dl DB SoREEED” - D FTAHEOE. i

(@) “Boorrs Koy ©SIFBoTOT 4GY0 JHO8 B, FKGH O Viforr FEHBomR eSDTHIL".
- EwpgSol® Veo HodS0s.

’

200. Identify the leader who did not appose the disintegration of Hyderabad state and
represented the same to the states Re-organisation Committee.

(1) Pundit Narendraji (2) Pundit Vinayak Rao
Gopal Rao Ekbote (4)  Kotturu Seetayyagupta
Toorers oo DefeisiS £58880s%om, i) B-wrREaS SA8 8 sorbrmorr DepSE ©oLsTdOd
oS ? !
(1) H088 Sosd () $ol8 drchs TR
@) >S o 8N8 @) E&rd Hayds
-000-
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